Proportions - similar figures - word problems

Solve tasks by rounding answer to the near est whole number :

1) A modd treehasascaeof 1cm:2m. If
the modd treeis 6 cm tall then how tall is
thereal tree?

3) A model giraffehasascaeof 1in: 3ft. If
the model giraffeis4 in tall then how tall is
the real giraffe?

5) A model motorcycle hasascaleof 1in: 3 ft.
If the model motorcycleis 3 inlong then
how long is the real motorcycle?

7) A particular treeis12 mtall. A model of it
was built with ascaeof 1 cm: 3m. How
tall isthe model?

9) A model statueis10intall. If it was built
with ascaleof 1in: 2 ft then how tall isthe
real statue?

11) A particular motorcycleis 10 ft long. A

model of it was built withascaleof 1in: 2
ft. How long is the model?

13) A model statueis8intall. If it was built
withascaeof 1in: 2 ft then how tal isthe
real statue?

15) A model house hasascaleof 1cm: 7 m. If
the model house is 2 cm wide then how
wide isthe real house?

17) A model trainhasascaeof 1in: 5ft. If the
mode trainis 3intall then how tal isthe
rea train?

19) A model submarineis5inlong. If it was
built with ascaleof 1in: 2 ft then how long
isthe real submarine?

21) A model planehasascaleof 1cm:4m. If
the model planeis4 cm long then how long
isthereal plane?

23) A model rocket hasascaleof 1cm: 2 m. If
the model rocket is5 cm tall then how tall is
the real rocket?

25) A model planehasascaleof 1in: 5ft. If
the model planeis 3intall then how tal is
the rea plane?

27) A particular houseis 15 m wide. A model
of it was built with ascaleof 1cm: 3 m.
How wide is the model ?

29) A model train hasascaleof 1in: 4ft. If the
rea trainis 12 ft tall then how tall isthe
model train?

2) A model trainhasascaeof 1in: 2ft. If the
real trainis 12 ft tall then how tall isthe
model train?

4) A particular trainis 12 ft tall. A model of it
was built with ascaleof 1in: 2 ft. How tall
isthe model?

6) A particular submarineis10 mlong. A
model of it was built withascaleof 1cm: 2
m. How long is the model?

8) A model giraffeis5intall. If it wasbuilt
with ascale of 1in: 4 ft then how tall isthe
real giraffe?

10) A particularigloois9 ft wide. A model of it

was built with ascaleof 1in: 3 ft. How
wide isthe model ?

12) A model satellitehasascaleof 1in: 3ft. If
the model satelliteis 6 in wide then how
wideisthe real satellite?

14) A model power plantis2 cmtall. If it was
built with ascale of 1 cm : 6 m then how tall
isthereal power plant?

16) A particular statueis 12 ft tall. A model of
it was built with ascaleof 1in: 3 ft. How
tall isthe model?

18) A particularigloois 15 ft wide. A model of
it was built withascaleof 1in: 5 ft. How
wide is the model ?

20) A model house hasascaeof 1cm:2m. If
thereal houseis 12 m tall then how tall is
the model house?

22) A model caris4inlong. If it was built with
ascaeof 1in: 3ftthen how longisthereal
car?

24) A particular statueis 14 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall isthe model?

26) A model planehasascaleof 1cm: 4 m. If
thereal planeis 16 m tal then how tall isthe
model plane?

28) A mode igloois6inwide. If it wasbuilt
with ascale of 1in: 2 ft then how wideis
thereal igloo?

30) A mode giraffeis3intal. If it was built
with ascale of 1in: 4 ft then how tall isthe
real giraffe?
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31) A model giraffehasascaleof 1in: 6ft. If
the model giraffeis 2 in tall then how tall is
the real giraffe?

33) A model planehasascaeof 1in: 3ft. If
therea planeis 12 ft tall then how tall isthe
model plane?

35) A model building hasascaleof 1.cm: 4 m.
If the real building is 16 m tall then how tall
isthe model building?

37) A particular houseis 15 mtall. A model of
it was built with ascaleof 1 cm: 3 m. How
tall isthe model?

39) A model car hasascaleof 1in: 9ft. If the
model car is 2 in long then how long is the
real car?

41) A particular houseis 16 m wide. A model
of it was built with ascaleof 1cm: 4 m.
How wide is the model ?

43) A particular power plantis10 mtall. A
model of it was built withascaleof 1cm: 5
m. How tall isthe model?

45) A mode househasascaleof 1cm: 2m. If
thereal houseis 10 m tall then how tall is
the model house?

47) A moded giraffeis 7 intal. If it was built
with ascaleof 1in: 2 ft then how tall isthe
real giraffe?

49) A moded satelliteis 2 inwide. If it was built
with ascale of 1in: 8 ft then how wideis
thereal satellite?

51) A model motorcycleis2inlong. If it was
built with ascaleof 1in: 5 ft then how long
isthe real motorcycle?

53) A model satelliteis2 cmwide. If it was
built with ascale of 1 cm : 9 m then how
wideisthereal satellite?

55) A model power plantis4 cmtall. If it was
built with ascale of 1 cm : 3 m then how tall
istherea power plant?

57) A model planehasascaeof 1cm:5m. If
the real planeis 20 mlong then how longis
the model plane?

59) A model planehasascaleof 1in: 2 ft. If
therea planeis 14 ft tall then how tall isthe
model plane?

61) A model househasascaleof 1cm: 3m. If
the rea houseis 12 m tall then how tall is
the model house?

63) A model car hasascaleof 1in: 2ft. If the
real car is 20 ft long then how long isthe
model car?

32) A model houseis 6 cm wide. If it was built
with ascaleof 1 cm : 2 m then how wideis
the real house?

34) A model house hasascaleof 1cm: 8m. If
therea houseis 16 m wide then how wideis
the modd house?

36) A model houseis3 cmitall. If it was built
with ascaleof 1 cm: 6 m then how tal is
the real house?

38) A model house hasascaleof 1in: 5ft. If
the model houseis 3 in wide then how wide
isthe real house?

40) A mode igloo hasascaeof 1in: 3ft. If
thereal igloois 12 ft wide then how wideis
the model igloo?

42) A modd train hasascaleof 1in: 2 ft. If the
model trainis5intall then how tall isthe
rea train?

44) A modd planehasascaleof 1in: 3ft. If
the model planeis 7 in tall then how tall is
thereal plane?

46) A particular statueis 16 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall isthe model ?

48) A modd planeis4 cmlong. If it was built
with ascale of 1 cm : 4 mthen how long is
thereal plane?

50) A model planeis4intal. If it was built
with ascaleof 1in: 3 ft then how tall isthe
real plane?

52) A model houseis5 cmwide. If it wasbuilt
with ascale of 1 cm: 3 m then how wideis
the real house?

54) A particular planeis20 mlong. A model of
it was built withascaleof 1 cm: 4 m. How
long is the model ?

56) A particular planeis12 ft tall. A model of it
was built with ascaleof 1in: 6 ft. How tall
isthe modd ?

58) A particular statueis 15 ft tall. A model of
it was built withascaleof 1in: 5ft. How
tall isthe model?

60) A model treehasascaeof 1cm: 7m. If
thereal treeis 21 mtall then how tall isthe
model tree?

62) A model househasascaleof 1cm:4m. If
the model house is 3 cm tall then how tall is
the real house?

64) A model trainhasascaleof 1in: 2 ft. If the
model trainis 7 in tall then how tall isthe
rea train?
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65) A particular trainis 18 ft tall. A model of it
was built withascaleof 1in: 2 ft. How tall
is the model ?

67) A model giraffehasascaeof 1in: 2ft. If
the model giraffeis 7 in tall then how tall is
the real giraffe?

69) A particular satelliteis 14 m wide. A model
of it was built withascaleof 21cm: 7 m.
How wide is the model ?

71) A model planehasascaeof 1in: 4ft. If
therea planeis 12 ft tall then how tall isthe
model plane?

73) A model train hasascaleof 1in: 3ft. If the
red trainis 15 ft tall then how tall isthe
model train?

75) A model planehasascaleof 1cm: 3 m. If
therea planeis 18 mtall then how tall isthe
model plane?

77) A model trainis3intal. If it wasbuilt with
ascaeof 1in: 7 ft then how tal istherea
train?

79) A model trainhasascaleof 1in: 3ft. If the
modd trainis 6 in tall then how tall isthe
red tran?

81) A particular statueis 16 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tal isthe model?

83) A model houseis7intall. If it was built
with ascaleof 1in: 2 ft then how tall isthe
real house?

85) A particular statueis20 ft tall. A model of
it was built withascaleof 1in: 4 ft. How
tal isthe model?

87) A particular satelliteis 12 ft wide. A model
of it was built with ascaleof 1in: 6 ft.
How wide is the model ?

89) A model car hasascaleof 1in: 3ft. If the
model car is 8 in long then how long is the
real car?

91) A model rocket hasascaleof 1cm: 7m. If
the real rocket is 14 m tall then how tal is
the model rocket?

93) A model house hasascaeof 1cm: 4 m. If
the model house is 5 cm wide then how
wideistherea house?

95) A model caris6inlong. If it was built with
ascaeof 1in: 2 ft then how longisthered
car?

97) A particular statueis 20 ft tall. A model of
it was built withascaleof 1in: 2 ft. How
tall isthe model?

66) A model caris7inlong. If it wasbuilt with
ascaeof 1in: 2 ft then how longisthereal
car?

68) A particular giraffeis 18 ft tall. A model of
it was built with ascaleof 1in: 3 ft. How
tall is the model?

70) A model statuehasascaeof 1in: 9ft. If
therea statueis 18 ft tall then how tall isthe
mode statue?

72) A model trainhasascaleof 1in: 4ft. If the
real train is 12 ft tall then how tall isthe
model train?

74) A model caris3inlong. If it was built with
ascaeof 1in: 4 ft then how longisthereal
car?

76) A model igloo hasascaeof 1in: 6 ft. If
the model igloo is 2 in wide then how wide
isthereal igloo?

78) A mode planeis4intall. If it wasbuilt
with ascale of 1in: 4 ft then how tall isthe
real plane?

80) A model houseis9 cm wide. If it wasbuilt
with ascale of 1 cm : 2 m then how wideis
the real house?

82) A particular houseis 16 ft wide. A model of
it was built with ascaleof 1in: 2 ft. How
wide isthe model ?

84) A model rocket hasascaleof 1cm: 4 m. If
therea rocket is 20 m tall then how tall is
the moddl rocket?

86) A model satellitehasascaleof 1cm:2m.
If thered satdlliteis 12 m wide then how
wideisthe model satellite?

88) A model planehasascaeof 1cm: 8 m. If
the model planeis 2 cmtall then how tall is
thereal plane?

90) A model train hasascaleof 1in: 3ft. If the
model trainis5in tall then how tall isthe
rea train?

92) A model train hasascaeof 1in: 2ft. If the
real train is 14 ft tall then how tall isthe
model train?

94) A model treehasascaleof 1cm:3m. If
thereal treeis 18 mtall then how tal isthe
model tree?

96) A model giraffehasascaeof 1in: 3ft. If
the model giraffeis4 in tall then how tall is
therea giraffe?

98) A model power plant hasascaleof 1cm: 3
m. If thereal power plant is 15 m tall then
how tall isthe model power plant?
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99) A particular car is 14 ftlong. A model of it
was built with ascaleof 1in: 2 ft. How
long is the model?

101) A 10fttall adult elephant standing next to a
statue casts a 5 ft shadow. If the statue casts
ashadow that is 6 ft long then how tall isit?

103) A 12fttal statue standing next to a car casts
a 16 ft shadow. If the car casts a shadow
that is 8 ft long then how tall isit?

105) A bird bath that is 3 ft tall casts a shadow
that is5ft long. Find the height of atree
that casts a 20 ft shadow.

107) A model motorcycle hasascaleof 1in: 3 ft.
If the model motorcycleis4 inlong then
how long is the real motorcycle?

109) A moded giraffehasascaleof 1in: 7 ft. If
the model giraffeis 2 in tall then how tall is
therea giraffe?

111) A telephone booth that is 8 ft tall castsa
shadow that is 2 ft long. Find the length of
the shadow that a4 ft baby elephant casts.

113) If a6 ft tall woman castsa 12 ft long
shadow then how long is the shadow that a8
ft tall adult elephant casts?

115) A 8ft tall telephone booth standing next to a
woman casts a 12 ft shadow. If the woman
is 6 ft tall then how long is her shadow?

117) A 2fttal cardboard box standing next to a
baby elephant casts a5 ft shadow. If the
baby elephant casts a shadow that is 10 ft
long then how tall isit?

119) A particular statueis 10 ft wide. A model of
it was built with ascaleof 1in: 2 ft. How
wide is the model ?

121) A moded satelliteis 2 inwide. If it was built
with ascaleof 1in: 9 ft then how wideis
the real satellite?

123) If a4 ft tall bird bath casts a 10 ft long
shadow then how tall is a petrified stump
that casts a 20 ft shadow?

125) A 6 ft tall petrified stump standing next to
an adult elephant casts a 10 ft shadow. If
the adult elephant casts a shadow that is 15
ft long then how tal isit?

127) A man that is6 ft tall casts ashadow that is
3ftlong. Find the length of the shadow that
a 18 ft statue casts.

129) A statuethat is 16 ft tall casts a shadow that
is8 ftlong. Find the height of an adult
giraffe that casts a9 ft shadow.

100) A mode rocket hasascaleof 1in: 3ft. If
the modd rocket is6 in tal then how tall is
thereal rocket?

102) If a2 fttall lawn castsalft long
shadow then how long is the shadow that a
16 ft tall statue casts?

104) A mode trainis3intall. If it wasbuilt with
ascaeof 1in: 4 ft then how tall isthereal
train?

106) A particular trainis 18 ft tall. A model of it
was built with ascaleof 1in: 3 ft. How tall
IS the model?

108) A mode trainis9intall. If it wasbuilt with
ascaeof 1in: 2 ft then how tall isthereal
train?

110) A model giraffehasascaleof 1in: 5ft. If
thereal giraffeis 10 ft tall then how tal is
the model giraffe?

112) A 10 ft tall statue standing next to awoman
casts a 20 ft shadow. If thewoman is 6 ft
tall then how long is her shadow?

114) A cardboard box that is 3 ft tall castsa
shadow that is5 ft long. Find the height of a
telephone booth that casts a 15 ft shadow.

116) A mode statueis6intal. If it was built
with ascaeof 1in: 2 ft then how tal isthe
real statue?

118) A particular satelliteis 20 ft wide. A model
of it was built with ascaleof 1in: 5 ft.
How wide is the mode ?

120) A model train hasascaleof 1in: 4 ft. If the
real trainis 12 ft tall then how tall isthe
model train?

122) A 4ft tall petrified stump standing next to a
baby giraffe casts a8 ft shadow. If the baby
giraffeis 8 ft tall then how long isits
shadow?

124) An adult giraffethat is 18 ft tall castsa
shadow that is 12 ft long. Find the height of
alawn that casts a 2 ft shadow.

126) A mode satellite hasascaleof 1cm:2m.
If thered satelliteis 16 m wide then how
wideisthe model satellite?

128) A moded rocket hasascaeof 1cm: 6 m. If
the real rocket is 18 mtall then how tall is
the model rocket?

130) A particular trainis21 fttall. A model of it
was built with ascaleof 1in: 7 ft. How tall
isthe modd ?
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131) A modd igloo hasascaleof 1in: 4ft. If
thereal igloo is 12 ft wide then how wideis
the model igloo?

133) If a6 fttall cardboard box castsa 3 ft long
shadow then how long is the shadow that a 4
ft tall bird bath casts?

135) If a8 ft tall telephone booth casts a 12 ft
long shadow then how long is the shadow
that a 6 ft tall petrified stump casts?

137) A model planehasascaeof 1cm: 4 m. If
the model planeis 3 cmtall then how tal is
thereal plane?

139) A particular house is 14 m wide. A model
of it was built withascaleof 1cm: 2 m.
How wide is the model ?

141) A particular statueis 10 ft tall. A model of
it was built withascaleof 1in: 2 ft. How
tall isthe model?

143) A model motorcycle hasascaleof 1in: 3 ft.
If the real motorcycleis 12 ft long then how
long is the model motorcycle?

145) A 2 ft tall globe standing next to aladder
castsal ft shadow. If theladder castsa
shadow that is 7 ft long then how tal isit?

147) A ladder that is 20 ft tall casts a shadow that
is15ftlong. Find the height of a bird bath
that casts a 3 ft shadow.

149) A model car hasascaleof 1in: 2 ft. If the
model car is 8 in long then how long is the
real car?

151) A modéd igloois2inwide. If it was built
with ascale of 1in: 6 ft then how wideis
thereal igloo?

153) A 2ft tall globe standing next to alawn
casts a 7 ft shadow. If thelawn
is4 ft tall then how longisits

shadow?

155) A globethat is 2 ft tall casts a shadow that is
6 ft long. Find the height of a baby giraffe
that casts a 18 ft shadow.

157) A particular giraffeis9fttall. A model of it
was built with ascaleof 1in: 3 ft. How tall
isthe model?

159) A mode power plantis3cmtall. If it was
built with ascale of 1 cm : 3 m then how tall
istherea power plant?

161) A particular statueis 18 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall isthe model?

132) If a15 ft tall statue casts a 10 ft long shadow
then how tall is aladder that casts a 8 ft
shadow?

134) A 10 ft tall statue standing next to awoman
casts a6 ft shadow. If thewomanis5 ft tall
then how long is her shadow?

136) A 2 ft tall globe standing next to atelephone
booth casts a 4 ft shadow. If the telephone
booth is 8 ft tall then how long isits
shadow?

138) A telephone booth that is 9 ft tall castsa
shadow that is 6 ft long. Find the length of
the shadow that a 6 ft woman casts.

140) A mode rocket hasascaeof 1cm: 4 m. If
the model rocket is5 cm tall then how tall is
the real rocket?

142) A model statueis6intall. If it was built
withascaeof 1in: 2 ft then how tall isthe
rea statue?

144) A woman that is 6 ft tall casts a shadow that
iIs9ft long. Find the length of the shadow
that a2 ft lawn casts.

146) A baby giraffethat is6 ft tall casts a shadow
that is9 ft long. Find the height of abird
bath that casts a 6 ft shadow.

148) A 15 ft tal statue standing next to a car casts
a 20 ft shadow. If thecaris6 ft tall then
how long is its shadow?

150) A model satellite hasascale of 1 cm: 10 m.
If the model satelliteis 2 cm wide then how
wideisthered satdlite?

152) A mode giraffeis5intal. If it wasbuilt
with ascale of 1in: 2 ft then how tall isthe
real giraffe?

154) A 18 ft tall adult giraffe standing next to a
baby elephant casts a9 ft shadow. If the
baby elephant casts a shadow that is 2 ft
long then how tall isit?

156) A 6 ft tall car standing next to atelephone
booth casts a 12 ft shadow. If the telephone
booth is 9 ft tall then how longisits
shadow?

158) A moded treehasascaeof 1in: 2ft. If the
mode treeis 10 in tall then how tall isthe
real tree?

160) A modd statueis7 intall. If it was built
with ascaleof 1in: 2 ft then how tall isthe
rea statue?

162) A 3ft tall baby elephant standing next to a
tent casts a5 ft shadow. If thetentis9 ft
tall then how long isits shadow?
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163) A 16 fttall adult giraffe standing next to a
man casts a 8 ft shadow. If themanis6 ft
tall then how long is his shadow?

165) If a4 fttall bird bath casts a6 ft long
shadow then how tall is an adult elephant
that casts a 15 ft shadow?

167) A mode satellite hasascaleof 1in: 4 yd.
If the model satelliteis 4 in wide then how
wideisthered satellite?

169) A particular satelliteis 16 m wide. A model
of it was built with ascaleof 1cm: 2m.
How wide is the model ?

171) A womanthat is6 ft tall casts a shadow that
is8 ftlong. Find the height of atelephone
booth that casts a 12 ft shadow.

173) A statuethat is 16 ft tall casts a shadow that
is8 ft long. Find the length of the shadow
that a4 ft baby elephant casts.

175) A cardboard box that is 6 ft tall castsa
shadow that is 3 ft long. Find the height of a
flagpole that casts a 8 ft shadow.

177) A modd statueis4intall. If it was built
with ascdeof 1in: 3ft then how tal isthe
real statue?

179) If a6 ft tall baby giraffe casts a9 ft long
shadow then how tall is atelephone booth
that casts a 12 ft shadow?

181) A 4fttall car standing next to a statue casts
a2 ft shadow. If the statueis 16 ft tall then
how long is its shadow?

183) A moded igloois5inwide. If it was built
with ascaleof 1in: 2 ft then how wideis
thereal igloo?

185) A model houseis2 cmtal. If it wasbuilt
with ascale of 1 cm: 6 m then how tal is
the real house?

187) A car that is6 ft tall casts a shadow that is 3
ft long. Find the height of an adult giraffe
that casts a9 ft shadow.

189) A 8ft tall baby giraffe standing next to a
bird bath casts a 20 ft shadow. If the bird
bath casts a shadow that is 10 ft long then
how tall isit?

191) A model motorcycle hasascaleof 1in: 5ft.
If the model motorcycleis 2 inlong then
how long is the real motorcycle?

193) A particular satelliteis 15 m wide. A model
of it was built withascaleof 1cm: 3 m.
How wide is the model ?

164) A 16 ft tall adult giraffe standing next to a
globe casts a 8 ft shadow. If the globeis 2 ft
tall then how long isits shadow?

166) A 9 ft tall adult elephant standing next to a
bird bath casts a 3 ft shadow. If the bird
bath is 3 ft tall then how long is its shadow?

168) A model rocket hasascaleof 1cm:5m. If
the real rocket is 15 m tall then how tall is
the model rocket?

170) A model car hasascaleof 1in: 3ft. If the
model car is 4 inlong then how long isthe
real car?

172) A petrified stump that is 6 ft tall castsa
shadow that is 12 ft long. Find the length of
the shadow that a 10 ft adult elephant casts.

174) If a6 fttall ladder casts a 10 ft long shadow
then how tall isaglobe that castsa5 ft
shadow?

176) A model car hasascaleof 1in: 3ft. If the
model car is 6 in long then how long isthe
real car?

178) A model power plantis2 cmtal. If it was
built with ascale of 1 cm : 9 m then how tall
isthereal power plant?

180) A 9ft tall tent standing next to a baby
giraffe casts a 6 ft shadow. If the baby
giraffeis 6 ft tall then how long isits
shadow?

182) If a6 fttall ladder casts a 12 ft long shadow
then how tall is a petrified stump that casts a
16 ft shadow?

184) A model rocketis4 cmtall. If it wasbuilt
with ascaleof 1 cm: 3 mthen how tal is
thereal rocket?

186) A modd giraffehasascaleof 1in: 2ft. If
thereal giraffeis 10 ft tall then how tal is
the model giraffe?

188) A cardboard box that is 8 ft tall castsa
shadow that is 16 ft long. Find the height of
apetrified stump that casts a 8 ft shadow.

190) A 16 ft tall ladder standing next to abird
bath casts a 4 ft shadow. If the bird bath
casts a shadow that is 1 ft long then how tall
isit?

192) A 6 ft tall woman standing next to a baby
elephant casts a 20 ft shadow. If the baby
elephant casts a shadow that is 10 ft long
then how tall isit?

194) A model igloo hasascaleof 1in: 4ft. If
thereal igloois 12 ft wide then how wide is
the model igloo?
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195) A 8ft tall telephone booth standing next to a
woman casts a 4 ft shadow. If the woman
casts a shadow that is 3 ft long then how tall
isshe?

197) If a9 ft tall telephone booth casts a 3 ft long
shadow then how long is the shadow that a 6
ft tall lawn casts?

199) A 10 ft tal tent standing next to awoman
casts a 14 ft shadow. If thewomanis5 ft
tall then how long is her shadow?

201) A model car hasascaeof 1in: 2ft. If the
model car is7 in long then how long is the
real car?

203) A model satelliteis 7 cmwide. If it was
built with ascale of 1 cm : 2 m then how
wideistherea satellite?

205) A 6 ft tall car standing next to a baby
elephant casts a 15 ft shadow. If the baby
elephant is 4 ft tall then how long isits
shadow?

207) If a4 fttall car castsal ft long shadow then
how long is the shadow that a 8 ft tall
petrified stump casts?

209) Find the distance between Union and
Clayton if they are 10 cm apart on amap
with ascaleof 1 cm: 11 km.

211) Find the distance between Johnstown and
Brisbane on amap with ascaleof 1in: 8 mi
if they are actually 56 mi apart.

213) A model satellitehasascaleof 1.cm: 5 m.
If the real satellite is 10 m wide then how
wide isthe model satellite?

215) A model househasascaleof 1in: 3yd. If
the rea houseis 12 yd wide then how wide
isthe model house?

217) A tent that is6 ft tall casts a shadow that is9
ft long. Find the height of ababy giraffe
that casts a 12 ft shadow.

219) A lawn that is 2 ft tall castsa
shadow that is 1 ft long. Find the height of a
woman that casts a 3 ft shadow.

221) Madison and Milton are 180 mi from each
other. How far apart would the cities be on
amap that hasascaleof 1in: 20 mi?

223) A particular trainis 15 ft tall. A model of it
was built with ascaleof 1in: 3 ft. How tall
isthe model?

225) A model trainis5intall. If it was built with
ascadeof 1in: 4 ft then how tall isthe real
train?

196) If a8 fttall telephone booth casts a 3 ft long
shadow then how tall is an adult giraffe that
casts a 6 ft shadow?

198) If a8 ft tall telephone booth casts a 12 ft
long shadow then how long is the shadow
that a 10 ft tall adult elephant casts?

200) A lawn that is 3 ft tall castsa
shadow that is 8 ft long. Find the height of a
man that casts a 16 ft shadow.

202) A model igloo hasascaleof 1in: 2 ft. If
thered igloo is 14 ft wide then how wideis
the model igloo?

204) A particular buildingis 15 ft tall. A model
of it was built with ascaleof 1in: 3ft.
How tall isthe model?

206) Anadult giraffethat is 15 ft tall castsa
shadow that is 5 ft long. Find the height of a
globethat casts a1 ft shadow.

208) Find the distance between Union and Mount
Pleasant on amap with ascaleof 1in: 12
mi if they are actually 84 mi apart.

210) A map hasascaeof 1 cm: 9km. If
Midway and Santa Cruz are 45 km apart
then they are how far apart on the map?

212) A mode igloo hasascaleof 1in: 3ft. If
the model igloo is 6 in wide then how wide
isthereal igloo?

214) A model houseis6 cm wide. If it was built
with ascale of 1 cm: 2 m then how wideis
the real house?

216) A statuethat is 18 ft tall casts a shadow that
iIs9 ft long. Find the height of atent that
casts a 2 ft shadow.

218) A telephone booth that is 8 ft tall castsa
shadow that is4 ft long. Find the height of
an adult elephant that casts a5 ft shadow.

220) A map hasascaleof 1in: 4 mi. If Milton
and Victoriaare 24 mi apart then they are
how far apart on the map?

222) Clayton and Y orkshire are 2 cm apart on a
map that hasascale of 1 cm: 19 km. How
far apart are thered cities?

224) A modd giraffeis2intall. If it wasbuilt
with ascale of 1in: 8 ft then how tall isthe
real giraffe?

226) A model househasascaeof 1cm:2m. If
the model house is 5 cm tall then how tall is
the real house?
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227) A 15ft tall ladder standing next to a
telephone booth casts a 10 ft shadow. If the
telephone booth is 9 ft tall then how long is
its shadow?

229) A 6 ft tall man standing next to an adult
giraffe casts a 3 ft shadow. If the adult
giraffeis 16 ft tall then how long isits
shadow?

231) Find the distance between Smithville and
Rockvilleif they are 4 in apart on amap
withascaleof 1in: 13 mi.

233) Find the distance between San Jose and
Midway on amap with ascaleof 1 cm: 10
km if they are actually 90 km apart.

235) A model treehasascaeof 1cm: 4 m. If
the model treeis4 cm tal then how tall is
thereal tree?

237) A 16 ft tall adult giraffe standing next to an
adult elephant casts a 8 ft shadow. If the
adult elephant casts a shadow that is5 ft
long then how tall isit?

239) A 14fttall adult giraffe standing next to a
man casts a 7 ft shadow. If themanis6 ft
tall then how long is his shadow?

241) Find the distance between Madison and
Rivertown if they are 5 cm apart on amap
with ascale of 1 cm: 8 km.

243) A map hasascaleof 1in:5mi. If Fairview
and Oak Grove are 10 mi apart then they are
how far apart on the map?

245) A model giraffehasascaleof 1in: 4ft. If
therea giraffeis 12 ft tall then how tall is
the model giraffe?

247) A model submarineis4 cmlong. If it was
built with ascale of 1 cm : 5 m then how
long isthe real submarine?

249) A 9ft tall telephone booth standing next to a
baby giraffe casts a 3 ft shadow. If the baby
giraffeis6 ft tall then how longisits
shadow?

251) Marion and Franklin are 68 km from each
other. How far apart would the cities be on
amap that hasascaleof 1 cm: 17 km?

253) Franklin and Madison are 9 in apart on a
map that hasascaleof 1in: 14 mi. How far
apart arethereal cities?

255) A particular giraffeis 12 ft tall. A model of
it was built with ascaleof 1in: 3ft. How
tall isthe model?

228) A baby giraffethat is 6 ft tall casts a shadow
that is 15 ft long. Find the height of an adult
elephant that casts a 20 ft shadow.

230) Find the distance between Georgetown and
Smithville on amap with ascaleof 1in: 15
mi if they are actually 150 mi apart.

232) Find the distance between Johnstown and
Riversideif they are 6 cm apart on amap
with ascaleof 1 cm: 12 km.

234) A model power plant hasascaleof 1cm: 7
m. If thereal power plant is 14 m tall then
how tall isthe model power plant?

236) A model power plant hasascaleof 1cm: 3
m. If thereal power plant is 15 m tall then
how tall isthe model power plant?

238) A 6 ft tall woman standing next to aglobe
casts a9 ft shadow. If the globeis 2 ft tall
then how long is its shadow?

240) A 3fttal bird bath standing next to a statue
castsa 2 ft shadow. If the statue casts a
shadow that is 10 ft long then how tall isit?

242) A map hasascaeof 1cm: 6 km. If
Fairview and Mount Pleasant are 8 cm apart
on the map then how far apart are the real
cities?

244) A map hasascaleof 1 cm: 3km. If
Rockville and Greenwood are 5 cm apart on
the map then how far apart are the real
cities?

246) A particular giraffeis 16 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall isthe model ?

248) If a18 ft tall statue casts a9 ft long shadow
then how long is the shadow that a 8 ft tall
cardboard box casts?

250) San Jose and Brisbane are 40 km from each

other. How far apart would the cities be on
amap that hasascaleof 1 cm : 10 km?

252) Marion and Salem are 6 cm apart on amap
that hasascaleof 1 cm: 16 km. How far
apart are the real cities?

254) A particular car is18 ft long. A model of it
was built with ascaleof 1in: 6 ft. How
long is the model ?

256) A model car hasascaeof 1in: 3ft. If the
model car is 4 in long then how long isthe
real car?
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257) A model caris4inlong. If it was built with
ascaeof 1in: 5ftthen how longisthered
car?

259) A globethat is 3 ft tall casts ashadow that is
6 ft long. Find the height of atelephone
booth that casts a 18 ft shadow.

261) Anadult giraffethat is 14 ft tall castsa
shadow that is 7 ft long. Find the height of a
tree that casts a 3 ft shadow.

263) Find the distance between Y orkshire and
Marion if they are 10 cm apart on amap
with ascaleof 1 cm: 9 km.

265) Find the distance between Salem and Milton
onamapwithascaeof 1in: 6 miif they
are actually 42 mi apart.

267) A model trainhasascaleof 1in: 10 ft. If
the model trainis 2 in tall then how tall is
thered train?

269) A statuethat is 15 ft tall casts a shadow that
is3ftlong. Find the length of the shadow
that a5 ft bird bath casts.

271) If a6 fttall petrified stump castsa 3 ft long
shadow then how tall is abird bath that casts
a 2 ft shadow?

273) Amap hasascaleof 1in: 20 mi. If
Franklin and Kumba are 120 mi apart then
they are how far apart on the map?

275) A map hasascaeof 1in: 16 mi. If Kumba
and Rockville are 3 in apart on the map then
how far apart are the rea cities?

277) A model car hasascaleof 1in: 2ft. If the
model car is 7 in long then how long isthe
real car?

279) A mode trainis3intall. If it wasbuilt with
ascaeof 1in: 3ft then how tall isthe real
train?

281) A bird bath that is 4 ft tall casts a shadow
that is9 ft long. Find the height of atent
that casts a 18 ft shadow.

283) Santa Cruz and Clinton are 112 km from
each other. How far apart would the cities
be on amap that hasascaleof 1 cm: 14
km?

285) Greenwood and Rivertown are 4 in agpart on
amap that hasascaeof 1in: 11 mi. How
far apart are thered cities?

287) A particular car is18 ft long. A model of it
was built with ascaleof 1in: 3 ft. How
long is the model?

258) A statuethat is 14 ft tall casts a shadow that
is7 ftlong. Find the length of the shadow
that a 4 ft baby elephant casts.

260) A 4fttal petrified stump standing next to a
baby giraffe casts a5 ft shadow. If the baby
giraffe casts a shadow that is 10 ft long then
how tal isit?

262) Find the distance between Y orkshire and
Union if they are 8 in apart on amap with a
scaleof 1in: 10 mi.

264) Find the distance between Santa Cruz and
Victoriaon amap withascaleof 1cm: 7
km if they are actually 28 km apart.

266) A model igloo hasascaeof 1in: 2ft. If
the model igloo is 5 in wide then how wide
isthereal igloo?

268) A model giraffehasascaleof 1in: 3ft. If
the model giraffeis 6 in tall then how tall is
therea giraffe?

270) If al10fttall tent casts a5 ft long shadow
then how tall isacar that castsa 2 ft
shadow?

272) A maphasascaeof 1in: 3 mi. If Franklin
and San Jose are 3 in apart on the map then
how far apart are thereal cities?

274) A map hasascaleof 1cm: 18 km. If

Rivertown and Sun Valley are 162 km apart
then they are how far apart on the map?

276) A model car hasascaleof 1in: 2ft. If the
real car is 14 ft long then how long isthe
model car?

278) A model statueis2intal. If it was built
with ascaleof 1in: 6 ft then how tal isthe
real statue?

280) A telephone booth that is 9 ft tall castsa
shadow that is 3 ft long. Find the height of a
cardboard box that castsa 1 ft shadow.

282) If a15ft tall statue casts a9 ft long shadow
then how long is the shadow that a 5 ft tall
baby elephant casts?

284) Santa Cruz and Smithville are 2 cm apart on
amap that hasascaleof 1 cm: 13 km. How
far apart are thereal cities?

286) Riverside and Mount Pleasant are 63 km
from each other. How far apart would the
cities be on amap that hasascaleof 1 cm :
9km?

288) A particular houseis 12 m wide. A model
of it was built with ascaleof 1 cm: 3 m.
How wide is the model ?
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289) A 15 ft tall statue standing next to a woman
castsa 12 ft shadow. If thewomanis5 ft
tall then how long is her shadow?

291) A globethat is 2 ft tall casts a shadow that is
1 ftlong. Find the height of abird bath that
casts a 2 ft shadow.

293) Find the distance between Rivertown and
Abbots Riseif they are 6 cm apart on amap
with ascaleof 1 cm: 6 km.

295) Find the distance between Union and Oak
Grove on amap with ascale of 1in: 20 mi
if they are actually 40 mi apart.

297) Anadult giraffethat is 18 ft tall castsa
shadow that is 9 ft long. Find the length of
the shadow that a 16 ft tree casts.

299) If a6 ft tall woman casts a4 ft long shadow
then how tall is a telephone booth that casts
a6 ft shadow?

290) A manthat is6 ft tall casts a shadow that is
4 ft long. Find the length of the shadow that
a 15 ft adult giraffe casts.

292) A 4fttal bird bath standing next to a statue
casts a2 ft shadow. If the statue casts a
shadow that is 8 ft long then how tall isit?

294) Find the distance between Kumba and
Georgetown on amap with ascaleof 1in: 4
mi if they are actually 32 mi apart.

296) A model houseis2 cmwide. If it was built
with ascale of 1 cm : 6 m then how wideis
the real house?

298) A 15 ft tall adult giraffe standing next to an
adult elephant casts a 18 ft shadow. If the
adult elephant is 10 ft tall then how long is
its shadow?

300) A map hasascaleof 1in: 16 mi. If
Greenwood and Midway are 32 mi apart
then they are how far apart on the map?

Solve tasks by rounding answer to the nearest tenth:

301) A model statueis?2inwide. If it was built
withascdeof 1in: 5 ft then how wideis
thereal statue?

303) A model planeis7intal. If it was built
withascaeof 1in: 2 ft then how tall isthe
real plane?

305) A model planehasascaleof 1in: 10ft. If
the model planeis2intall then how tal is
the real plane?

307) A model househasascaleof 1in: 5ft. If
the moddl houseis4 intall then how tal is
the real house?

309) A model rocket hasascaleof 1cm: 2.8 m.
If the model rocket is 7 cm tall then how tall
isthereal rocket?

311) A particular houseis 12.2 m wide. A model
of it was built with ascaeof 1cm: 6.1 m.
How wide is the model ?

313) A model househasascaeof 1in: 3.3ft. If
the model house is 6 in wide then how wide
istherea house?

315) A model power plant hasascale of 1 cm:
3.4 m. If thereal power plant is 10.2 m tall
then how tall isthe model power plant?

317) A model trainhasascaleof 1in: 2.8ft. If
the modd trainis5intall then how tall is
the real train?

319) A model satellitehasascaleof 1.cm: 3 m.
If the model satelliteis 6 cm wide then how
wideisthered satellite?

302) A particular igloois 9.9 ft wide. A model of
it was built with ascaleof 1in: 3.3 ft. How
wide isthe model ?

304) A model igloo hasascaleof 1in: 1.8ft. If
the model igloo is 6 in wide then how wide
isthereal igloo?

306) A model train hasascaleof 1in: 2ft. If the
model trainis6intall then how tall isthe
real train?

308) A model igloo hasascaleof 1in: 2 ft. If
thereal igloois 10 ft wide then how wideis
the model igloo?

310) A model caris7inlong. If it wasbuilt with
ascaeof 1in: 1.9 ft then how longisthe
real car?

312) A model trainhasascaleof 1in: 3.4 ft. If
the model trainis5 in tall then how tall is
thereal train?

314) A particular giraffeis 11 ft tall. A model of
it was built with ascaleof 1in: 5.5 ft. How
tall isthe model ?

316) A model igloo hasascaleof 1in: 3.3ft. If
the model igloo is 3 in wide then how wide
istherea igloo?

318) A model satelliteis5inwide. If it was built
with ascaleof 1in: 2 ft then how wideis
the real satellite?

320) A model treehasascaleof 1cm:3.9m. If
thereal treeis 19.5 m tall then how tall is
the model tree?
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321) A model rocket hasascaleof 1cm: 4.1 m.
If thereal rocket is 12.3 m tall then how tall
is the model rocket?

323) A model satellitehasascaleof 1in: 2.2 ft.
If thered satdlliteis 13.2 ft wide then how
wideisthe model satdllite?

325) A particular giraffeis 14 ft tall. A model of
it was built with ascaleof 1in: 2.8 ft. How
tall isthe model?

327) A model rocket hasascaleof 1in: 4.5ft. If
the model rocket is4 in tall then how tall is
the real rocket?

329) A model igloo hasascaleof 1in: 1.8ft. If
thereal igloo is 10.8 ft wide then how wide
isthe model igloo?

331) A mode caris4inlong. If it was built with
ascaeof 1in: 3.8 ft then how longisthe
real car?

333) A modd giraffeis9intall. If it was built
with ascaleof 1in: 2 ft then how tall isthe
real giraffe?

335) A model caris9inlong. If it wasbuilt with
ascaeof 1in: 2.2 ft then how longisthe
real car?

337) A model satellite hasascaleof 1 cm: 6.5 m.
If the model satelliteis 2 cm wide then how
wideisthered satellite?

339) A model power plant hasascale of 1 cm:
3.7 m. If the model power plantis5 cm tall
then how tall isthe real power plant?

341) A model igloo hasascaleof 1in: 3ft. If
thereal igloo is 12 ft wide then how wide is
the model igloo?

343) A model car hasascaleof 1in: 6.7 ft. If
thereal car is 20.1 ft long then how long is
the model car?

345) A model house hasascaleof 1in: 3.3ft. If
the rea houseis 19.8 ft tall then how tall is
the model house?

347) A particular statueis 18.2 ft tall. A model
of it was built with ascaleof 1in: 2.6 ft.
How tall isthe model?

349) A model train hasascaleof 1in: 4ft. If the
real trainis 12 ft tall then how tall isthe
mode train?

351) A model trainhasascaleof 1in: 2.2 ft. If
thereadl trainis 19.8 ft tall then how tall is
the model train?

353) A model house hasascaeof 1cm: 2.3 m.
If the model houseis 5 cm tall then how tall
istherea house?

322) A model car hasascaleof 1in: 5ft. If the
real car is 10 ft long then how long isthe
model car?

324) A particular car is16.8 ft long. A model of
it was built withascaleof 1in: 2.8 ft. How
long is the model ?

326) A model car hasascaleof 1in: 9.5ft. If
thereal car is 19 ft long then how long isthe
mode car?

328) A model statue hasascaleof 1in: 2.5ft. If
thereal statueis 10 ft wide then how wideis
the model statue?

330) A model igloois5inwide. If it wasbuilt
with ascaleof 1in: 2.2 ft then how wideis
thereal igloo?

332) A model plane hasascaleof 1cm: 2.8 m.
If thereal planeis 11.2 m long then how
long isthe model plane?

334) A model caris8inlong. If it wasbuilt with
ascaeof 1in: 2.1 ft then how longisthe
rea car?

336) A model house hasascaleof 1cm: 2.9 m.
If the model houseis 5 cm wide then how
wide is the rea house?

338) A particular car is18.4 ft long. A model of
it was built withascaleof 1in: 2.3 ft. How
long is the model?

340) A model igloois2inwide. If it wasbuilt
with ascaleof 1in: 6.5 ft then how wideis
thereal igloo?

342) A model giraffehasascaleof 1in: 2.8 ft.

If therea giraffeis 11.2 ft tall then how tall
isthe moddl giraffe?

344) A model plane hasascaleof 1cm: 2.1 m.
If thereal planeis 14.7 m tall then how tall
isthe model plane?

346) A model train hasascaleof 1in: 4.5ft. If
thereal train is 18 ft tall then how tal isthe
modd train?

348) A model house hasascaleof 1cm: 2.1 m.
If the real houseis 16.8 m wide then how
wide is the model house?

350) A particular trainis16.8 ft tall. A model of
it was built withascaleof 1in: 2.4 ft. How
tall isthe model?

352) A particularigloois 15 ft wide. A model of
it was built withascaleof 1in: 7.5 ft. How
wide is the model?

354) A model giraffeis2intall. If it was built
with ascaleof 1in: 9 ft then how tall isthe
real giraffe?
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355) A model househasascaeof 1in: 3.6 ft. If
the model houseis 5 in wide then how wide
is the real house?

357) A model igloo hasascaleof 1in: 3ft. If
thereal igloo is 15 ft wide then how wideis
the model igloo?

359) A particular rocket is11.1 ft tall. A model
of it was built with ascaleof 1in: 3.7 ft.
How tall isthe model?

361) A model giraffehasascaeof 1in: 2.1 ft.
If thereal giraffeis 14.7 ft tall then how tall
isthe moddl giraffe?

363) A model treehasascaleof 1in: 2.4 ft. If
thered treeis 12 ft tall then how tall isthe
model tree?

365) A model statueis9intall. If it was built
with ascaleof 1in: 1.9 ft then how tall is
the real statue?

367) A model giraffeis4intall. If it was built
with ascale of 1in: 4 ft then how tall isthe
real giraffe?

369) A model caris2inlong. If it wasbuilt with
ascaeof 1in: 7 ft then how longisthered
car?

371) A model power plant hasascaleof 1cm: 2
m. If the model power plantis6 cm tall
then how tall isthe real power plant?

373) A model satellite hasascaleof 1in: 6.2 yd.
If the real satelliteis 18.6 yd wide then how
wideisthe model satellite?

375) A particular car is17.1ftlong. A model of
it was built with ascaleof 1in: 5.7 ft. How
long is the model?

377) A particular statueis 12 ft tall. A model of
it was built with ascaleof 1in: 6 ft. How
tall isthe model?

379) A model houseis 3 cmwide. If it was built
with ascale of 1 cm : 3.7 m then how wide
isthereal house?

381) A model satellitehasascaleof 1in: 2.2 yd.
If the model satelliteis 6 in wide then how
wideisthereal satellite?

383) A particular trainis 18 ft tall. A model of it
was built with ascaleof 1in: 2 ft. How tall
isthe model?

385) A model satellite hasascaleof 1 cm: 9.5 m.

If the model satelliteis 2 cm wide then how
wideisthered satellite?

387) A model satellitehasascaleof 1.cm: 2.1 m.

If the model satdlliteis 6 cm wide then how
wideistherea satellite?

356) A model motorcyclehasascaleof 1in: 2.5
ft. If the model motorcycleis4 inlong then
how long is the real motorcycle?

358) A model house hasascaleof 1 cm: 6.9 m.
If the model houseis 2 cm tall then how tall
is the real house?

360) A model house hasascaleof 1 cm: 5.3 m.
If the real houseis 10.6 m tall then how tall
isthe model house?

362) A model power plant hasascale of 1 cm::
2.1 m. If the model power plant is9 cm tall
then how tall isthe real power plant?

364) A model car hasascaleof 1in: 8ft. If the
model car is 2 in long then how long isthe
rea car?

366) A model giraffehasascaleof 1in: 2.8 ft.
If the model giraffeis4 in tal then how tall
isthered giraffe?

368) A model treehasascaleof 1cm: 2.4 m. If
thereal treeis 14.4 mtall then how tall is
the model tree?

370) A model car hasascaleof 1in: 1.9ft. If
thereal car is 19 ft long then how long is the
model car?

372) A model igloois6inwide. If it wasbuilt
withascaleof 1in: 2.5 ft then how wideis
thereal igloo?

374) A particular houseis 14.6 mwide. A model
of it was built withascaeof 1cm: 7.3 m.
How wide is the model ?

376) A model house hasascaleof 1cm: 2.2 m.
If the real houseis 17.6 m wide then how
wide is the model house?

378) A model satellite hasascaleof 1in: 2.6 ft.
If the model satelliteis 5 in wide then how
wideisthe real satellite?

380) A model houseis3 cmtall. If it was built
with ascale of 1 cm: 3.5 mthen how tall is
the real house?

382) A model trainis6intal. If it wasbuilt with
ascaeof 1in: 2.7 ft then how tall isthe
rea train?

384) A particular planeis14.4 mtal. A mode of
it was built withascaleof 1 cm: 3.6 m.
How tall isthe model?

386) A model statueis4 intal. If it was built
with ascaleof 1in: 3.3 ft then how tall is
the real statue?

388) A model car hasascaleof 1in: 2.7 ft. If
the model car is 7 in long then how long is
the real car?
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389) A model igloois2inwide. If it wasbuilt
with ascdeof 1in: 5.5 ft then how wideis
the real igloo?

391) A model car hasascaeof 1in: 4ft. If the
model car is 3 in long then how long is the
real car?

393) A model trainis2intall. If it was built with
ascaeof 1in: 7.5 ft then how tall isthe
real train?

395) A model houseis5 cmtall. If it was built
with ascaleof 1 cm: 2.5 m then how tall is
the real house?

397) A model train hasascaleof 1in: 6 ft. If the
real train is 18 ft tall then how tall isthe
moded train?

399) A particular igloo is 14 ft wide. A model of
it was built with ascaleof 1in: 3.5ft. How
wide is the model ?

401) If a2.9ft tall bird bath castsa 11.6 ft long
shadow then how long is the shadow that a
3.8 ft tall cardboard box casts?

403) A model houseis3 cmwide. If it was built
with ascaeof 1 cm : 3.7 m then how wide
isthe real house?

405) A model train hasascaeof 1in: 2ft. If the
real trainis 14 ft tall then how tall isthe
mode train?

407) A car that is 7.3 ft tall casts ashadow that is
43.8 ft long. Find the height of a baby
elephant that casts a 19.2 ft shadow.

409) A globethat is 2.8 ft tall casts a shadow that
is9.8 ft long. Find the length of the shadow
that a 6 ft woman casts.

411) A cardboard box that is 6.9 ft tall castsa
shadow that is 9 ft long. Find the length of
the shadow that a 5 ft car casts.

413) A 7.2 ft tall telephone booth standing next to
ababy giraffe casts a 21.6 ft shadow. If the
baby giraffeis 8.5 ft tall then how longisits
shadow?

415) A model statue hasascaleof 1in: 25ft. If
the model statueis4 intall then how tal is
the rea statue?

417) A model planehasascaeof 1in: 2 ft. If
therea planeis 16 ft tall then how tall isthe
model plane?

419) If a7.5ft tal petrified stump casts a 37.5 ft
long shadow then how long is the shadow
that a9 ft tall tent casts?

390) A particular car is13.3 ft long. A model of
it was built with ascaleof 1in: 1.9 ft. How
long is the model ?

392) A model trainis7 intal. If it was built with
ascaeof 1in: 2.3 ft then how tal isthe
real train?

394) A model car hasascaleof 1in: 2.3ft. If
thereal car is 16.1 ft long then how long is
the model car?

396) A model giraffehasascaleof 1in: 8.5ft.
If the model giraffeis 2 in tal then how tall
isthered giraffe?

398) A model satellite hasascaleof 1in: 4.2 yd.
If the model satelliteis 4 in wide then how
wideistherea satellite?

400) A model giraffeis6intal. If it was built
with ascaleof 1in: 3 ft then how tall isthe
real giraffe?

402) A particular trainis15fttall. A model of it
was built with ascaleof 1in: 5ft. How tall
isthe modd ?

404) A model house hasascaleof 1in: 8ft. If
the model house is 2 in wide then how wide
istherea house?

406) A model trainhasascaeof 1in: 3.6 ft. If
thered trainis 18 ft tall then how tall isthe
modd train?

408) A 8.4 ft tall adult elephant standing next to a
man casts a48.7 ft shadow. If themanis
4.8 ft tall then how long is his shadow?

410) A 8.9 ft tall tree standing next to an adult
elephant casts a 35.6 ft shadow. If the adult
elephant casts a shadow that is 42.4 ft long
then how tall isit?

412) A model car hasascaleof 1in: 2.8ft. If
thereal car is11.2 ft long then how long is
the model car?

414) A model rocket hasascaleof 1in: 3ft. If
the moddl rocket is4 in tal then how tall is
thereal rocket?

416) A particular car is18 ft long. A model of it
was built with ascaleof 1in: 9 ft. How
long is the model?

418) A particular motorcycleis 9.9 ft long. A
model of it was built with ascaleof 1in:
3.3 ft. How long isthe model?

420) If a3.2ft tall baby elephant casts a 4.8 ft
long shadow then how long is the shadow
that a 17 ft tall adult giraffe casts?
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421) A 14 ft tall adult giraffe standing next to an
adult elephant casts a 58.8 ft shadow. If the
adult elephant casts a shadow that is 42.8 ft
long then how tall isit?

423) A lawn that is 6 ft tall castsa
shadow that is 21 ft long. Find the height of
acar that casts a 16.5 ft shadow.

425) A model rocket hasascaeof 1cm: 1.9 m.
If thereal rocket is 13.3 m tall then how tall
is the model rocket?

427) A particular car is13 ft long. A model of it
was built with ascaleof 1in: 2.6 ft. How
long is the model ?

429) A car that is4.7 ft tall casts ashadow that is
9.9 ft long. Find the height of a cardboard
box that casts a 16.8 ft shadow.

431) A manthat is 6.8 ft tall casts a shadow that
is35.4 ft long. Find the length of the
shadow that a 6.1 ft woman casts.

433) A 7.6 ft tall petrified stump standing next to
acardboard box casts a 19 ft shadow. If the
cardboard box casts a shadow that is 14.8 ft
long then how tall isit?

435) A particular satelliteis 20 ft wide. A model
of it was built with ascaleof 1in: 2 ft.
How wide is the model ?

437) A model satelliteis2 inwide. If it was built
withascdeof 1in: 7.5 ft then how wideis
thered satdllite?

439) A model house hasascaleof 1cm: 2.2 m.
If thereal houseis 11 m wide then how wide
is the modd house?

441) A 17.4ft tall statue standing next to aman
casts a48.7 ft shadow. If the man castsa
shadow that is 13.4 ft long then how tall is
he?

443) If a 1.6 ft tall globe casts a 8.8 ft long
shadow then how long is the shadow that a5
ft tall man casts?

445) If a4.7 ft tall car casts a 10.3 ft long shadow
then how tall is a statue that casts a 29.3 ft
shadow?

447) A model igloo hasascaleof 1in: 5ft. If
the model igloo is 2 in wide then how wide
isthereal igloo?

449) A model igloois4inwide. If it wasbuilt
with ascaleof 1in: 3.3 ft then how wideis
the real igloo?

451) A globethat is 3.5 ft tall casts a shadow that
is15.1 ftlong. Find the length of the
shadow that a 7.5 ft man casts.

422) If a5.5 ft tall man casts a19.3 ft long
shadow then how long is the shadow that a
3.8 ft tall bird bath casts?

424) A particular car is 20 ft long. A model of it
was built with ascaleof 1in: 10 ft. How
long is the model ?

426) A model igloois5inwide. If it wasbuilt
with ascaleof 1in: 2.6 ft then how wideis
thereal igloo?

428) A particular motorcycleis 10 ft long. A
model of it was built with ascaleof 1in:
2.5ft. How long isthe model ?

430) A 6.5fttall lawn standing next to

ababy giraffe casts a 22.8 ft shadow. If the

baby giraffeis 5.2 ft tall then how longisits

shadow?

If a11.3 ft tall adult elephant castsa 61 ft

long shadow then how long is the shadow

that a 5.7 ft tall woman casts?

434) A 8.4 ft tall baby giraffe standing next to a
ladder casts a 14.3 ft shadow. If the ladder
is12.1 ft tall then how long isits shadow?

432)

436) A model rocket hasascaleof 1cm: 2.7 m.
If therea rocket is 16.2 m tall then how tall
is the moddl rocket?

438) A particular rocket is11.1 ft tall. A model
of it was built with ascaleof 1in: 3.7 ft.
How tall isthe moddl ?

440) A cardboard box that is 2 ft tall castsa
shadow that is 10.4 ft long. Find the height
of awoman that casts a 24.4 ft shadow.

442) A telephone booth that is 6.9 ft tall castsa
shadow that is 38 ft long. Find the height of
aglobethat castsa17.1 ft shadow.

444) If a4.3 ft tal baby elephant casts a 6.5 ft
long shadow then how tall is an adult
elephant that casts a 14.9 ft shadow?

446) A particular trainis 20 ft tall. A model of it
was built withascaleof 1in: 5ft. How tal
is the modd ?

448) A particular car is19.2 ft long. A model of
it was built with ascaleof 1in: 4.8 ft. How
long is the model?

450) A model giraffehasascaleof 1in: 2.4 ft.
If the model giraffeis 7 in tal then how tall
istheredl giraffe?

452) A ladder that is 12.5 ft tall casts a shadow
that is 70 ft long. Find the length of the
shadow that a 8.2 ft adult elephant casts.
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453) A 15.5ft tall flagpole standing next to an
adult elephant casts a 66.6 ft shadow. If the
adult elephant is 9.2 ft tall then how longis
its shadow?

455) A model house hasascaleof 1cm: 8.2 m.
If the real house is 16.4 m wide then how
wide isthe model house?

457) A particular houseis 11.4 m wide. A model
of it was built with ascaleof 1cm: 1.9 m.
How wide is the model ?

459) A particular satelliteis17.1 ft wide. A
mode! of it was built withascaleof 1in:
5.7 ft. How wide isthe model?

461) A model car hasascaleof 1in: 6 ft. If the
model car is 2 in long then how long isthe
real car?

463) If al11.3ft tall adult elephant casts a 56.5 ft
long shadow then how tall is ababy giraffe
that casts a 38.5 ft shadow?

465) If a7.1ft tal man castsa17 ft long shadow
then how tall is atent that casts a 21.8 ft
shadow?

467) A model caris4inlong. If it wasbuilt with
ascaeof 1in: 3.8 ft then how longisthe
real car?

469) A model planeis5cmtal. If it was built
with ascale of 1 cm: 3.6 m then how tall is
the rea plane?

471) A 6.9 fttall car standing next to aman casts
a28.3 ft shadow. If the man casts a shadow
that is 24.6 ft long then how tal is he?

473) If al16.5ft tall ladder casts a21.5 ft long
shadow then how long is the shadow that a
3.3 ft tall bird bath casts?

475) A model igloo hasascaleof 1in: 3.5ft. If
the model igloo is 4 in wide then how wide
isthereal igloo?

477) A model planehasascaleof 1cm: 4.4 m.

If thereal planeis 17.6 m tall then how tall
isthe model plane?

479) A model car hasascaleof 1in: 3.8ft. If
the real car is 19 ft long then how long is the
model car?

481) A model satellitehasascaeof 1cm: 2.3 m.
If the real satelliteis 16.1 m wide then how
wideisthe model satellite?

454) A petrified stump that is 7.5 ft tall castsa
shadow that is 42 ft long. Find the height of
a cardboard box that casts a 36.4 ft shadow.

456) A particular houseis 10 m wide. A model
of it was built withascaleof 1cm: 2 m.
How wide is the model ?

458) A particular igloois 13.2 ft wide. A model
of it was built with ascaleof 1in: 3.3 ft.
How wide is the model ?

460) A particular rocket is 11 ft tall. A model of
it was built with ascaleof 1in:5.5ft. How
tall isthe model?

462) An adult elephant that is 10.8 ft tall castsa
shadow that is 21.6 ft long. Find the height
of alawn that casts a 8 ft shadow.

464) A 14.6 ft tall ladder standing next to an adult
elephant casts a49.6 ft shadow. If the adult
elephant casts a shadow that is 31.3 ft long
then how tall isit?

466) A 17 ft tall adult giraffe standing next to a
baby elephant casts a 79.9 ft shadow. If the
baby elephant casts a shadow that is 24 ft
long then how tall isit?

468) A particular statueis 12 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall isthe model?

470) A model satellitehasascaeof 1cm: 1.9 m.
If the real satelliteis 11.4 m wide then how
wide isthe model satellite?

472) A 5.4 ft tall baby elephant standing next to
an adult giraffe casts a12.4 ft shadow. If
the adult giraffe casts a shadow that is 34.3
ft long then how tall isit?

474) If a3.3ft tall cardboard box castsa 7.3 ft
long shadow then how long is the shadow
that a4.3 ft tall bird bath casts?

476) If a6.1fttal car castsa15.9 ft long shadow
then how long is the shadow that a 2.5 ft tall
bird bath casts?

478) A model house hasascaeof 1cm: 6.1 m.
If the model house is 2 cm wide then how
wide isthe rea house?

480) A mode planeis4intall. If it was built
with ascale of 1in: 4 ft then how tall isthe
real plane?

482) A ladder that is 9.2 ft tall casts a shadow that
is14.7 ft long. Find the height of a
telephone booth that casts a 12 ft shadow.
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483) A telephone booth that is 9.1 ft tall castsa
shadow that is 24.6 ft long. Find the length
of the shadow that a 6.9 ft petrified stump
casts.

485) If a6.5 ft tall telephone booth casts a 7.8 ft
long shadow then how tall is atree that casts
a 9.5 ft shadow?

487) If a6.3 ft tall tent casts a 8.8 ft long shadow
then how long is the shadow that a 3.2 ft tall
car casts?

489) A model planeis2 cmtal. If it was built
with ascale of 1 cm: 5.6 m then how tall is
the rea plane?

491) A model rocket hasascaleof 1in: 3ft. If
the real rocket is 15 ft tall then how tall is
the model rocket?

493) If a16.6 ft tall statue casts a68.1 ft long
shadow then how tall is acar that casts a
26.7 ft shadow?

495) A man that is 6.6 ft tall casts a shadow that
iIs25.7 ft long. Find the length of the
shadow that a 5.9 ft woman casts.

497) If al15fttall flagpole casts a88.5 ft long
shadow then how tall is a man that casts a
28.3 ft shadow?

499) A model planehasascaeof 1cm:3m. If
the model planeis5 cm tall then how tall is
the rea plane?

501) A particular submarineis15.5mlong. A
model of it was built with ascaleof 1 cm:
3.1 m. How long isthe model ?

503) A baby elephant that is2.9 ft tall castsa
shadow that is 6.4 ft long. Find the height
of ababy giraffe that casts a 13.4 ft shadow.

505) A 18.1ft tall adult giraffe standing next to a
tent casts a 105 ft shadow. If thetent castsa
shadow that is 29 ft long then how tall isit?

507) Find the distance between Abbots Rise and
Oak Groveon amap withascaeof 1. cm :
11.6 km if they are actually 40.6 km apart.

509) Find the distance between Milton and
Madison on amap with ascaleof 1in: 15
mi if they are actually 19.5 mi apart.

511) A model planehasascaleof 1cm: 5.6 m.
If the model planeis 3 cm tall then how tall
isthereal plane?

513) A 4.7 ft tal bird bath standing next to a baby
giraffe casts a27.7 ft shadow. If the baby
giraffeis 8.5 ft tall then how long isits
shadow?

484) A 3.5ft tall cardboard box standing next to
an adult giraffe castsa 7.7 ft shadow. If the
adult giraffeis 16.7 ft tall then how long is
its shadow?

486) A particular houseis 17 mtall. A model of

it was built with ascaleof 1cm: 3.4 m.
How tall isthe model ?

488) A model houseis 3 cmwide. If it wasbuilt
with ascaeof 1 cm : 4.2 m then how wide
is the real house?

490) A model house hasascaleof 1 cm: 2.5m.
If thereal houseis 12.5 m wide then how
wide is the model house?

492) If a4.4 fttall petrified stump casts a 15 ft
long shadow then how long is the shadow
that a 5.4 ft tall woman casts?

494) If a9.1 ft tall adult elephant casts a43.7 ft
long shadow then how long is the shadow
that a13.5 ft tall statue casts?

496) A ladder that is 13.2 ft tall casts a shadow
that is 15.8 ft long. Find the height of a
statue that casts a 11.5 ft shadow.

498) A model car hasascadeof 1in: 4.3ft. If

thereal car is17.2 ft long then how long is
the model car?

500) A model igloo hasascaleof 1in: 2.8ft. If
the model igloo is 5 in wide then how wide
isthereal igloo?

502) A 5.3fttall man standing next to a baby
giraffe casts a 15.9 ft shadow. If the baby
giraffeis 7.3 ft tall then how long isits
shadow?

504) A 8.1fttal tent standing next to a man casts
a41.3 ft shadow. If the man casts a shadow
that is 33.2 ft long then how tall is he?

506) Centerville and Georgetown are 48.7 mi
from each other. How far apart would the
citiesbe on amap that hasascaleof 1in:
17.4 mi?

508) Find the distance between Abbots Rise and
Greenwood if they are 0.6 in apart on amap
withascaleof 1in: 5.7 mi.

510) A model igloois3inwide. If it wasbuilt
with ascaleof 1in: 5 ft then how wideis
thereal igloo?

512) A particular houseis 12.6 m wide. A model
of it was built with ascaeof 1cm: 6.3 m.
How wide is the model ?

514) If a5.1 ft tall woman casts a13.3 ft long
shadow then how long is the shadow that a
9.4 ft tall telephone booth casts?
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515) A 5.3fttall car standing next to a baby
elephant casts a 14.3 ft shadow. If the baby
elephant casts a shadow that is 12.2 ft long
then how tall isit?

517) A map hasascaleof 1 cm: 13.3km. If
Victoriaand Franklin are 2.4 cm apart on
the map then how far apart are the real
cities?

519) A map hasascaleof 1 cm: 16.7 km. If
Salem and Clayton are 50.1 km apart then
they are how far apart on the map?

521) A model igloois4inwide. If it was built
with ascaleof 1in: 3.5 ft then how wideis
the real igloo?

523) A model houseis7 cmtall. If it was built
with ascale of 1 cm: 2.4 m then how tall is
the real house?

525) A baby elephant that is5.4 ft tall castsa
shadow that is 17.3 ft long. Find the height
of abird bath that casts a 8.6 ft shadow.

527) A 2.2fttal cardboard box standing next to
an adult giraffe castsa 5.5 ft shadow. If the
adult giraffeis 18.3 ft tall then how long is
its shadow?

529) Brisbane and Marion are 35.2 mi from each
other. How far apart would the cities be on
amap that hasascaleof 1in: 18.5 mi?

531) Clinton and Sun Valley are 3.2 cm apart on
amap that hasascale of 1 cm: 6.8 km.
How far apart are the redl cities?

533) A model igloo hasascaleof 1in: 2.6 ft. If
the model igloo is 5 in wide then how wide
isthereal igloo?

535) A model giraffehasascaeof 1in:5ft. If
therea giraffeis 10 ft tall then how tall is
the model giraffe?

537) A 4.4fttall tent standing next to a baby
giraffe casts a 7 ft shadow. If the baby
giraffeis 4.5 ft tall then how long isits
shadow?

539) If a4.6 ft tall car castsa 7.4 ft long shadow
then how long is the shadow that a 1.7 ft tall
globe casts?

541) Find the distance between Mount Pleasant
and Smithvilleif they are 2.2 in apart on a
map with ascaleof 1in: 8.5 mi.

543) Find the distance between Sun Valley and
Riverside on amap with ascaleof 1 cm:
11.8 kmif they are actualy 41.3 km apart.

516) A 8.3fttal petrified stump standing next to
acardboard box casts a 10 ft shadow. If the
cardboard box casts a shadow that is 8.6 ft
long then how tall isit?

518) Find the distance between Salem and Union
if they are 2.3 in apart on amap with ascae
of Lin:7.5mi.

520) A map hasascaleof 1 cm: 10.9 km. If
Georgetown and Santa Cruz are 39.2 km
apart then they are how far apart on the
map?

522) A model statuehasascaleof 1in: 2ft. If
the model statueis 6 intall then how tal is
therea statue?

524) A model statue hasascaleof 1in: 6ft. If
the moddl statueis 3intall then how tall is
therea statue?

526) If a10.5ft tall statue casts a 18.9 ft long
shadow then how tall is atelephone booth
that casts a 15.3 ft shadow?

528) A map hasascaleof 1cm: 9.2 km. If
Abbots Rise and Midway are 1.2 cm apart
on the map then how far apart are the real
cities?

530) A map hasascaeof 1in: 12.6 mi. If
Brisbane and Victoria are 32.8 mi apart then
they are how far apart on the map?

532) A model giraffeis4intal. If it was built
with ascale of 1in: 3 ft then how tall isthe
real giraffe?

534) A model planeis4intall. If it was built
with ascale of 1in: 4 ft then how tall isthe
real plane?

536) If a4.8 ft tall baby elephant casts a 23.5 ft
long shadow then how tall is atent that casts
a 34.8 ft shadow?

538) A telephone booth that is 7.9 ft tall castsa
shadow that is 40.3 ft long. Find the length
of the shadow that a 7.4 ft man casts.

540) Mount Pleasant and Kumba are 21.6 km
from each other. How far apart would the
cities be on amap that hasascaleof 1 cm :
14.4 km?

542) Find the distance between Sun Valley and
Rockvilleif they are 2.8 in apart on amap
withascaleof 1in:17.8 mi.

544) A model trainhasascaleof 1in: 4.5ft. If
the model trainis4 in tall then how tall is
thereal train?
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545) A model giraffehasascaeof 1in: 3.3 ft.
If thereal giraffeis 9.9 ft tall then how tall
isthe model giraffe?

547) A 7.7 ft tall ladder standing next to acar
castsa 21.6 ft shadow. If the car castsa
shadow that is 19.6 ft long then how tall is
it?

549) A 2.3ft tal globe standing next to a
telephone booth casts a12.2 ft shadow. If
the telephone booth is 8.5 ft tall then how
long isits shadow?

551) A map hasascaleof 1in:10.3mi. If
Clinton and Johnstown are 1.1 in apart on
the map then how far apart are the real
cities?

553) A map hasascaleof 1in:13.6 mi. If
Midway and Georgetown are 21.8 mi apart
then they are how far apart on the map?

555) A particular trainis 12 ft tall. A model of it
was built withascaleof 1in: 2.4 ft. How
tal isthe model?

557) A model house hasascaeof 1cm: 6.1 m.
If thereal houseis 12.2 m wide then how
wideisthe model house?

559) A 4.6 ft tall baby elephant standing next to a
car casts a 15.2 ft shadow. If the car castsa
shadow that is 20.1 ft long then how tall is
it?

561) If a5.5ft tall tent castsa 18.2 ft long
shadow then how long is the shadow that a
14.7 ft tall adult giraffe casts?

563) Sun Valley and Midway are 9.2 mi from
each other. How far apart would the cities
be on amap that hasascaleof 1in: 15.4
mi?

565) Clayton and Salem are 1.9 in apart on amap
that hasascaleof 1in: 18.7 mi. How far
apart arethered cities?

567) A particular statueis11.2 ft tall. A model
of it was built with ascaleof 1in: 2.8 ft.
How tall isthe model?

569) A model rocket hasascaleof 1in: 2.4 ft. If
thereal rocket is 16.8 ft tall then how tal is
the model rocket?

571) If a4.3fttal bird bath castsa 7.3 ft long
shadow then how long is the shadow that a
5.6 ft tall woman casts?

573) A baby giraffethat is6.5 ft tall castsa

shadow that is 14.3 ft long. Find the height
of aman that casts a 12.3 ft shadow.

546) A particular rocket is 16 ft tall. A model of
it was built with ascaleof 1in: 3.2 ft. How
tall isthe model?

548) A 3.3ft tall baby elephant standing next to a
tent casts a 18.2 ft shadow. If thetentis4.1
ft tall then how long isits shadow?

550) A cardboard box that is 3.2 ft tall castsa
shadow that is 9.6 ft long. Find the length
of the shadow that a 6.4 ft baby giraffe casts.

552) Clinton and Rivertown are 1.5 cm apart on a
map that hasascale of 1 cm: 18.3 km.
How far apart are therea cities?

554) Midway and Oak Grove are 2.3 in apart on a
map that hasascaleof 1in: 7.7 mi. How
far apart are thered cities?

556) A particular igloois 10 ft wide. A model of
it was built with ascaleof 1in: 2 ft. How
wide isthe model ?

558) A model train hasascaleof 1in: 1.9ft. If
therea trainis 13.3 ft tall then how tall is
the modd train?

560) A petrified stump that is 5.8 ft tall castsa
shadow that is 11 ft long. Find the length of
the shadow that a 4.1 ft baby elephant casts.

562) Sun Valley and Brisbane are 21.1 mi from
each other. How far apart would the cities
be on amap that hasascaleof 1in: 6.2 mi?

564) Find the distance between Clayton and
Franklin if they are 1.2 cm apart on amap
with ascale of 1 cm: 9.5 km.

566) A particular trainis17 fttall. A model of it
was built withascaleof 1in: 3.4 ft. How
tall isthe model?

568) A model satellite hasascaleof 1in: 4.3 yd.
If the model satelliteis 4 in wide then how
wideisthered satdlite?

570) If a3.4ft tall globe castsa 19 ft long
shadow then how long is the shadow that a
7.9 ft tall adult elephant casts?

572) A lawn that is 3.6 ft tall castsa
shadow that is 9.7 ft long. Find the height
of aladder that casts a 22.4 ft shadow.

574) Find the distance between Midway and
Centervilleif they are 3.7 in apart on amap
withascaeof 1in: 11.2 mi.
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575) Find the distance between Johnstown and
Union if they are 0.8 cm apart on amap with
ascaeof 1cm: 5.4 km.

577) A model house hasascaleof 1cm: 9m. If
the model house is 2 cm wide then how
wideistherea house?

579) A model trainhasascaleof 1in: 2.3 ft. If
theredl trainis 16.1 ft tall then how tall is
the model train?

581) A 4.9fttal petrified stump standing next to
aglobe casts a 10.3 ft shadow. If the globe
is 1.5 ft tall then how long isits shadow?

583) A tent that is5.5 ft tall casts a shadow that is
31.9ftlong. Find the height of an adult
giraffe that casts a84.7 ft shadow.

585) A map hasascaleof 1cm: 7.1 km. If
Clayton and Madison are 2.5 cm apart on
the map then how far apart are the real
cities?

587) A map hasascaleof 1in: 10.5 mi. If Oak
Grove and Kumba are 3.8 in apart on the
map then how far apart are the real cities?

589) A particular trainis 16.8 ft tall. A model of
it was built with ascaleof 1in: 2.1 ft. How
tal isthe model?

591) A model satellite hasascaleof 1.cm: 2 m.
If the model satellite is 9 cm wide then how
wideisthereal satellite?

593) A 7.5ft tal man standing next to an adult
elephant casts a 9 ft shadow. If the adult
elephant is 11 ft tall then how long isits
shadow?

595) A 2.8 ft tal baby elephant standing next to a
baby giraffe casts a12.9 ft shadow. If the
baby giraffe casts a shadow that is 29 ft long
then how tall isit?

597) San Jose and Brisbane are 2.7 cm apart on a
map that hasascale of 1 cm: 12.2 km.

How far apart are the redl cities?

599) Centerville and Rivertown are 9.4 mi from
each other. How far apart would the cities
be on amap that hasascaeof 1in: 15.6
mi?

576) A map hasascaleof 1 cm: 14.6 km. If
Johnstown and Marion are 21.9 km apart
then they are how far apart on the map?

578) A model car hasascaleof 1in: 2.8ft. If
thereal car is 14 ft long then how long is the
model car?

580) A particular power plantis12.4 mtall. A
modd of it was built with ascale of 1 cm:
3.1 m. How tal isthe model?

582) If a4.7 ft tall car casts a18.3 ft long shadow
then how tall is a globe that casts a 10.5 ft
shadow?

584) If a5.8 ft tall man castsa 11.6 ft long
shadow then how long is the shadow that a
14.7 ft tall tree casts?

586) Oak Grove and San Jose are 50.8 mi from

each other. How far apart would the cities

be on amap that hasascaeof 1in: 16.4

mi?

Rockville and Sun Valey are 15.8 km from

each other. How far apart would the cities

be on amap that hasascaleof 1cm: 5.1

km?

590) A particular statueis 14 ft tall. A model of
it was built with ascaleof 1in: 2 ft. How
tall is the model ?

592) A particular car is15 ft long. A model of it
was built withascaleof 1in: 5ft. How
long is the model ?

594) A 4.3fttall bird bath standing next to a
statue casts a 24.5 ft shadow. If the statue
casts a shadow that is 94.6 ft long then how
tal isit?

596) Johnstown and Greenwood are 38 mi from

each other. How far apart would the cities

be on amap that hasascaleof 1in: 18.1

mi?

Find the distance between San Jose and

Johnstown if they are 3.4 in apart on amap

withascaleof 1in: 6.4 mi.

600) A model motorcycleis4inlong. If it was
built with ascale of 1in: 2.5 ft then how
long is the real motorcycle?

588)

598)
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Proportions - similar figures - word problems

Solve tasks by rounding answer to the near est whole number :

1) A modd treehasascaeof 1cm:2m. Ifl2m
the model treeis 6 cm tall then how tall is
the rea tree?

3) A model giraffehasascaeof 1in: 3ft. [2 ft
the model giraffeis4 in tall then how tall is
the real giraffe?

5) A model motorcycle hasascaleof 1in: 3fO ft
If the model motorcycleis 3 inlong then
how long is the real motorcycle?

7) A particular treeis12 mtall. A model of 4 cm
was built with ascaleof 1 cm: 3m. How
tall isthe model?

9) A model statueis10intall. If it was built20 ft
with ascaleof 1in: 2 ft then how tall isthe
real statue?

11) A particular motorcycleis10ftlong. A 5in

model of it was built withascaleof 1in: 2
ft. How long isthe model?

13) A mode statueis8intall. If it wasbuilt 16 ft
withascdeof 1in: 2 ft then how tal isthe
real statue?

15) A model house hasascaleof 1cm: 7 m. 1fid m
the model house is 2 cm wide then how
wideistherea house?

17) A model trainhasascaleof 1in: 5ft. If thes ft
mode trainis 3intall then how tal isthe
rea train?

19) A model submarineis5inlong. If it was 10 ft
built with ascaleof 1in: 2 ft then how long
isthe real submarine?

21) A model planehasascaleof 1cm:4m. Ii6m
the model planeis4 cm long then how long
isthereal plane?

23) A model rocket hasascaleof 1cm: 2 m. I1fl0 m
the model rocket is5 cm tall then how tall is
the real rocket?

25) A model planehasascaleof 1in: 5ft. I15ft
the model planeis 3intall then how tal is
the rea plane?

27) A particular houseis 15 m wide. A modeb cm
of it was built with ascaleof 1cm: 3 m.

How wide is the model ?

29) A model trainhasascaleof 1in: 4ft. If thein

rea trainis 12 ft tall then how tall isthe
model train?

2) A model trainhasascaeof 1in: 2ft. If thein
real trainis 12 ft tall then how tall isthe
model train?

4) A particular trainis 12 ft tall. A model of i in
was built with ascaleof 1in: 2 ft. How tall
isthe modd ?

6) A particular submarineis10mlong. A  5cm
mode of it was built with ascaleof 1cm: 2
m. How long is the model?

8) A model giraffeis5intall. If it wasbuilt 20 ft
with ascaleof 1in: 4 ft then how tall isthe
real giraffe?

10) A particularigloois9 ft wide. A model of &in

was built with ascaleof 1in: 3ft. How
wide is the model?

12) A model satellitehasascaleof 1in: 3 ft. I8 ft
the model satelliteis 6 in wide then how
wideisthe real satellite?

14) A model power plantis2 cmtall. If it wasl2 m
built with ascale of 1 cm : 6 m then how tall
isthereal power plant?

16) A particular statueis 12 ft tall. A model of in
it was built withascaleof 1in: 3 ft. How
tall isthe model?

18) A particularigloois 15 ft wide. A model & in
it was built withascaleof 1in: 5ft. How
wide is the model?

20) A model house hasascaeof 1cm:2m. 16 cm
the real houseis 12 m tall then how tall is
the model house?

22) A model caris4inlong. If it was built with? ft
ascaeof 1in: 3ftthen how longisthereal
car?

24) A particular statueis 14 ft tall. A model of in
it was built withascaleof 1in: 2 ft. How
tall isthe model?

26) A model planehasascaleof 1cm: 4 m. ¥4 cm
thereal planeis 16 m tal then how tall isthe
model plane?

28) A mode igloois6inwide. If it was built2 ft
with ascaleof 1in: 2 ft then how wideis
thereal igloo?

30) A model giraffeis3intall. If it wasbuilt 12 ft
with ascaleof 1in: 4 ft then how tall isthe
real giraffe?
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31) A modd giraffehasascaleof 1in: 6 ft. [£2 ft
the model giraffeis 2 in tall then how tall is
the real giraffe?

33) A model planehasascaeof 1in: 3ft. If4in
therea planeis 12 ft tall then how tall isthe
model plane?

35) A model building hasascaleof 1 cm: 4 m4 cm
If the real building is 16 m tall then how tall
isthe model building?

37) A particular houseis15 mtal. A model ofs cm
it was built withascaleof 1 cm: 3 m. How
tall isthe model?

39) A model car hasascaleof 1in: 9ft. If thé8 ft
model car is 2 in long then how long is the
real car?

41) A particular houseis 16 m wide. A modelt cm
of it was built withascaleof 1cm: 4 m.
How wide is the model ?

43) A particular power plantis10mtal. A 2cm
mode of it was built with ascaeof 1cm: 5
m. How tall isthe model?

45) A model house hasascaleof 1cm:2m. Ibcm
thereal houseis 10 m tall then how tall is
the model house?

47) A modd giraffeis 7 intal. If it wasbuilt 14 ft
with ascaleof 1in: 2 ft then how tall isthe
real giraffe?

49) A modd satelliteis 2 inwide. If it was buil6 ft
with ascale of 1in: 8 ft then how wideis
the real satellite?

51) A model motorcycleis2inlong. If it waslO ft
built with ascaleof 1in: 5 ft then how long
isthe real motorcycle?

53) A model satelliteis2 cmwide. If it wad8 m
built with ascaeof 1 cm : 9 m then how
wideisthered satellite?

55) A model power plantis4 cmtall. If it wasl2 m
built with ascale of 1 cm : 3 m then how tall
istherea power plant?

57) A model planehasascaleof 1cm:5m. Ificm
the real planeis 20 m long then how longis
the model plane?

59) A model planehasascaleof 1in: 2ft. If 7in
therea planeis 14 ft tall then how tall isthe
model plane?

61) A model househasascaleof 1cm: 3 m. Ificm
the rea houseis 12 m tall then how tall is
the model house?

63) A model car hasascaleof 1in: 2ft. If thé0in
real car is 20 ft long then how long isthe
model car?

32) A model houseis 6 cm wide. If it wasbuilt2 m
with ascaleof 1 cm : 2 m then how wideis
the real house?

34) A model house hasascaleof 1cm: 8 m. If2cm
therea houseis 16 m wide then how wideis
the modd house?

36) A model houseis 3 cmtall. If it was buili8 m
with ascaleof 1 cm : 6 m then how tal is
the real house?

38) A model house hasascaleof 1in: 5ft. If15ft
the model houseis 3 in wide then how wide
isthe real house?

40) A mode igloo hasascaeof 1in: 3ft. If 4in
thereadl igloois 12 ft wide then how wideis
the model igloo?

42) A modd train hasascaleof 1in: 2 ft. If th&0 ft
model trainis5intall then how tall isthe
real train?

44) A modd planehasascaleof 1in: 3ft. 121 ft
the model planeis 7 in tall then how tall is
thereal plane?

46) A particular statueis 16 fttall. A model df in
it was built with ascaleof 1in: 2 ft. How
tall isthe model ?

48) A modd planeis4 cmlong. If it wasbuilt6 m
with ascale of 1 cm : 4 mthen how long is
thereal plane?

50) A model planeis4intal. If it wasbuilt 12 ft
with ascale of 1in: 3 ft then how tall isthe
real plane?

52) A model houseis5 cmwide. If it wasbuilt5 m
with ascale of 1 cm : 3 m then how wideis
the real house?

54) A particular planeis 20 mlong. A model db cm
it was built withascaleof 1 cm: 4 m. How
long is the model ?

56) A particular planeis 12 ft tall. A model of &in
was built with ascaleof 1in: 6 ft. How tall
isthe modd ?

58) A particular statueis15fttall. A model & in
it was built withascaleof 1in: 5 ft. How
tall isthe model?

60) A model treehasascaleof 1cm: 7m. I1f3cm
thereal treeis 21 mtall then how tall isthe
model tree?

62) A model househasascaleof 1cm:4m. Ifi2m
the model house is 3 cm tall then how tall is
the real house?

64) A model trainhasascaeof 1in: 2 ft. If thed ft
model trainis 7 in tall then how tall isthe
rea train?
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65) A particular trainis18fttall. A model of i®in
was built withascaleof 1in: 2 ft. How tall
is the model ?

67) A model giraffehasascaleof 1in: 2 ft. ¥4 ft
the model giraffeis 7 in tall then how tall is
the real giraffe?

69) A particular satelliteis 14 mwide. A modé& cm
of it was built withascaleof 21cm: 7 m.
How wide is the model?

71) A model planehasascaeof 1in: 4ft. If 3in
therea planeis 12 ft tall then how tall isthe
model plane?

73) A model trainhasascaleof 1in: 3ft. If thein
red train is 15 ft tall then how tall isthe
model train?

75) A model planehasascaleof 1cm: 3 m. 6 cm
therea planeis 18 mtall then how tall isthe
model plane?

77) A model trainis3intal. If it was built with ft
ascaeof 1in: 7 ft then how tal istherea
train?

79) A model trainhasascaleof 1in: 3ft. If thes ft
modd trainis 6 in tall then how tall isthe
red tran?

81) A particular statueis 16 ft tall. A model @ in
it was built with ascaleof 1in: 2 ft. How
tal isthe model?

83) A model houseis7intall. If it wasbuilt 14 ft
with ascaleof 1in: 2 ft then how tall isthe
real house?

85) A particular statueis20 fttall. A model diin
it was built withascaleof 1in: 4 ft. How
tal isthe model?

87) A particular satelliteis 12 ft wide. A modé in
of it was built with ascaleof 1in: 6 ft.
How wide is the model ?

89) A model car hasascaleof 1in: 3ft. If the4 ft
model car is 8 in long then how long is the
real car?

91) A model rocket hasascaleof 1cm: 7m. If2cm
the real rocket is 14 m tall then how tal is
the model rocket?

93) A model house hasascaeof 1cm:4m. 12Om
the model house is 5 cm wide then how
wideistherea house?

95) A model caris6inlong. If it was built witk? ft
ascaeof 1in: 2 ft then how longisthered
car?

97) A particular statueis20 ft tall. A model dfOin
it was built with ascaleof 1in: 2 ft. How
tall isthe model?

66) A model caris7inlong. If it was built with ft
ascaeof 1in: 2 ft then how longisthereal
car?

68) A particular giraffeis 18 ft tall. A model éfin
it was built with ascaleof 1in: 3ft. How
tal is the model ?

70) A model statue hasascaleof 1in: 9ft. If 2in
therea statueis 18 ft tall then how tall isthe
model statue?

72) A model trainhasascaleof 1in: 4ft. If thein
real train is 12 ft tall then how tall isthe
model train?

74) A model caris3inlong. If it was built with? ft
ascaeof 1in: 4 ft then how longisthereal
car?

76) A model igloo hasascaeof 1in: 6ft. If12ft
the model igloo is 2 in wide then how wide
isthereal igloo?

78) A model planeis4intall. If it wasbuilt 16 ft
with ascale of 1in: 4 ft then how tall isthe
real plane?

80) A model houseis9 cm wide. If it wasbuilt8 m
with ascale of 1 cm : 2 m then how wideis
the real house?

82) A particular houseis 16 ft wide. A model a8 in
it was built with ascaleof 1in: 2 ft. How
wide isthe model ?

84) A model rocket hasascaleof 1cm:4m. 16 cm
the real rocket is 20 m tall then how tall is
the model rocket?

86) A mode satellitehasascaleof 1 cm:2m6cm
If thered satdlliteis 12 m wide then how
wideisthe model satellite?

88) A model planehasascaeof 1cm:8m. Ii6 m
the model planeis 2 cmtall then how tall is
thereal plane?

90) A model train hasascaleof 1in: 3ft. If thi5 ft
model trainis5intall then how tall isthe
rea train?

92) A mode trainhasascaleof 1in: 2ft. If théin
real train is 14 ft tall then how tall isthe
model train?

94) A model treehasascaleof 1cm: 3 m. If6 cm
thereal treeis 18 mtall then how tal isthe
model tree?

96) A model giraffehasascaleof 1in: 3ft. [f2ft
the model giraffeis4 in tall then how tall is
thereal giraffe?

98) A model power plant hasascaleof 1 cm: 3 cm
m. If thereal power plant is 15 m tall then
how tall isthe model power plant?
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99) A particular car is14 ftlong. A model of itin 100) A model rocket hasascaleof 1in: 3ft. Ifi8ft

was built with ascaleof 1in: 2 ft. How the model rocket is6 intall then how tall is
long is the model? the real rocket?

101) A 10fttall adult elephant standing next to al2 ft 102) If a2 ft tall lawn castsal ft lon@ ft
statue casts a5 ft shadow. If the statue casts shadow then how long is the shadow that a
ashadow that is 6 ft long then how tall isit? 16 ft tall statue casts?

103) A 12fttal statue standing next to acar cast§ ft 104) A mode trainis3intall. If it wasbuilt wiil ft
a 16 ft shadow. If the car casts a shadow ascaleof 1in: 4 ft then how tall isthe real
that is 8 ft long then how tall isit? train?

105) A bird bath that is 3 ft tall castsashadowi2 ft ~ 106) A particular trainis 18 fttall. A model of i in
that is5ft long. Find the height of atree was built with ascaleof 1in: 3 ft. How tall
that casts a 20 ft shadow. Is the model?

107) A model motorcyclehasascaleof 1in: 3ftl2 ft 108) A model trainis9intall. If it wasbuilt wiiB ft

If the model motorcycleis4 inlong then ascaeof 1in: 2 ft then how tall isthe real
how long is the real motorcycle? train?

109) A mode giraffehasascaleof 1in: 7 ft. f4ft 110) A model giraffehasascaleof 1in:5ft. Bin
the model giraffeis2in tall then how tall is thereal giraffeis 10 ft tall then how tall is
the real giraffe? the model giraffe?

111) A telephonebooththat is8fttall castsa 1ft  112) A 10 ft tall statue standing next to awomath?2 ft
shadow that is 2 ft long. Find the length of casts a 20 ft shadow. If thewoman is 6 ft
the shadow that a4 ft baby elephant casts. tall then how long is her shadow?

113) If a6 ft tall woman castsa 12 ft long 16 ft 114) A cardboard box that is3 fttall castsa  9ft
shadow then how long is the shadow that a 8 shadow that is 5 ft long. Find the height of a
ft tall adult elephant casts? telephone booth that casts a 15 ft shadow.

115) A 8ft tall telephone booth standing next to@ft 116) A model statueis6 intall. If it wasbuilt 12 ft
woman casts a 12 ft shadow. If the woman with ascale of 1in: 2 ft then how tall isthe
is 6 ft tall then how long is her shadow? real statue?

117) A 2fttal cardboard box standingnexttod ft  118) A particular satelliteis 20 ft wide. A modd in
baby elephant casts a5 ft shadow. If the of it wasbuilt withascaleof 1in: 5ft.
baby elephant casts a shadow that is 10 ft How wide is the model ?

long then how tall isit?
119) A particular statueis 10 ft wide. A model dbin 120) A model train hasascaleof 1in: 4 ft. If thein

it was built withascaleof 1in: 2 ft. How real train is 12 ft tall then how tall isthe
wide is the model ? model train?

121) A modd satelliteis2inwide. If itwasbuil8 ft 122) A 4 ft tall petrified stump standing next to al6 ft
withascaleof 1in: 9 ft then how wideis baby giraffe casts a8 ft shadow. If the baby
the real satellite? giraffeis 8 ft tall then how long isits

shadow?

123) If a4 fttall bird bath castsa 10 ft long 8 ft 124) Anadult giraffethat is18fttall castsa 3 ft
shadow then how tall is a petrified stump shadow that is 12 ft long. Find the height of
that casts a 20 ft shadow? alawn that casts a 2 ft shadow.

125) A 6 ft tall petrified stump standing next to9 ft  126) A model satellite hasascaleof 1 cm: 2 m8 cm
an adult elephant casts a 10 ft shadow. If If thereal satelliteis 16 m wide then how
the adult elephant casts a shadow that is 15 wide isthe model satellite?

ft long then how tal isit?
127) A manthat is6 ft tall casts ashadow that i®© ft 128) A model rocket hasascaleof 1cm: 6m. [f3cm

3ftlong. Find the length of the shadow that the real rocket is 18 m tall then how tall is
a 18 ft statue casts. the model rocket?

129) A statuethat is 16 ft tall casts a shadow thal8 ft 130) A particular trainis21 fttall. A model of i in
is8ftlong. Find the height of an adult was built with ascaleof 1in: 7 ft. How tall
giraffe that casts a9 ft shadow. isthe model?
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131) A modd igloo hasascaleof 1in: 4ft. If 3in
thereal igloo is 12 ft wide then how wideis
the model igloo?

133) If a6 fttall cardboard box castsa 3 ftlong 2 ft
shadow then how long is the shadow that a 4
ft tall bird bath casts?

135) If a8 ft tall telephone booth castsa 12 ft 9 ft
long shadow then how long is the shadow
that a 6 ft tall petrified stump casts?

137) A moddl planehasascaeof 1cm: 4 m. I1i2m
the model planeis 3 cmtall then how tal is
thereal plane?

139) A particular houseis 14 mwide. A mode¥ cm
of it was built with ascaleof 1cm: 2 m.

How wide is the model ?

141) A particular statueis 10 ft tall. A model d in
it was built withascaleof 1in: 2 ft. How
tall isthe model?

143) A model motorcyclehasascaleof 1in: 3fédin
If the real motorcycleis 12 ft long then how
long is the model motorcycle?

145) A 2 ft tall globe standing next to aladderl4 ft
castsal ft shadow. If theladder castsa
shadow that is 7 ft long then how tal isit?

147) A ladder that is 20 ft tall casts a shadow that! ft
is15ft long. Find the height of a bird bath
that casts a 3 ft shadow.

149) A model car hasascaleof 1in: 2 ft. If tha6 ft
model car is 8 in long then how long is the
real car?

151) A modéd igloois2inwide. If it was buill2 ft
with ascaleof 1in: 6 ft then how wideis
the real igloo?

153) A 2ft tall globe standing next to alawn 14 ft
castsa 7 ft shadow. If thelawn
is4 ft tall then how longisits

shadow?

155) A globethat is 2 ft tall casts a shadow that i6 ft
6 ft long. Find the height of a baby giraffe
that casts a 18 ft shadow.

157) A particular giraffeis9fttall. A model of 3tin
was built with ascaleof 1in: 3 ft. How tall
isthe model?

159) A model power plantis3cmtall. If it was9 m
built with ascale of 1 cm : 3 m then how tall
istherea power plant?

161) A particular statueis 18 ft tall. A model @ in
it was built with ascaleof 1in: 2 ft. How
tall isthe model?

132) If a5 ft tall statue casts a 10 ft long shadowl 2 ft
then how tall is aladder that casts a 8 ft
shadow?

134) A 10 ft tall statue standing next to awomarB ft
casts a 6 ft shadow. If thewomanis5 ft tall
then how long is her shadow?

136) A 2 ft tall globe standing next to a tel ephonis ft
booth casts a 4 ft shadow. If the telephone
booth is 8 ft tall then how longisits
shadow?

138) A telephone booth that is 9 ft tall castsa 4 ft
shadow that is 6 ft long. Find the length of
the shadow that a 6 ft woman casts.

140) A mode rocket hasascaeof 1cm: 4 m. 120m
the model rocket is5 cm tall then how tall is
the real rocket?

142) A model statueis6intall. If it wasbuilt 12 ft
with ascaleof 1in: 2 ft then how tall isthe
rea statue?

144) A woman that is 6 ft tall casts a shadow thaB ft
iIs9ft long. Find the length of the shadow
that a2 ft lawn casts.

146) A baby giraffe that is 6 ft tall casts a shadowi ft
that is9 ft long. Find the height of abird
bath that casts a 6 ft shadow.

148) A 15 ft tall statue standing next to a car cast8 ft
a 20 ft shadow. If thecaris6 ft tall then
how long isits shadow?

150) A model satellite hasascaleof 1 cm: 10 m20 m
If the model satelliteis 2 cm wide then how
wideisthered satdlite?

152) A model giraffeis5intall. If it wasbuilt 10 ft
with ascale of 1in: 2 ft then how tal isthe
real giraffe?

154) A 18ft tal adult giraffe standing next toaft
baby elephant casts a9 ft shadow. If the
baby elephant casts a shadow that is 2 ft
long then how tall isit?

156) A 6 ft tall car standing next to atelephone 18 ft
booth casts a 12 ft shadow. If the telephone
booth is 9 ft tall then how longisits
shadow?

158) A moded treehasascaeof 1in: 2ft. If theO ft
mode treeis 10 in tall then how tall isthe
real tree?

160) A modd statueis7 intal. If it wasbuilt 14 ft
with ascaleof 1in: 2 ft then how tall isthe
rea statue?

162) A 3ft tall baby elephant standing next to &5 ft

tent castsa 5 ft shadow. If thetentisO ft
tall then how long isits shadow?
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163) A 16 ft tall adult giraffe standing next to & ft
man casts a 8 ft shadow. If themanis6 ft
tall then how long is his shadow?

165) If a4 fttall bird bath castsa6 ftlong 10 ft
shadow then how tall is an adult elephant
that casts a 15 ft shadow?

167) A moded satellite hasascaleof 1in: 4 ydl16 yd
If the model satelliteis 4 in wide then how
wideisthereal satellite?

169) A particular satelliteis 16 mwide. A mod& cm
of it was built withascaleof 1cm: 2 m.

How wide is the model ?

171) A woman that is6 ft tall casts a shadow thab ft
is8 ftlong. Find the height of atelephone
booth that casts a 12 ft shadow.

173) A statuethat is 16 ft tall casts a shadow tha® ft
is8 ft long. Find the length of the shadow
that a4 ft baby elephant casts.

175) A cardboard box that is 6 ft tall castsa 16 ft
shadow that is 3 ft long. Find the height of a
flagpole that casts a 8 ft shadow.

177) A modd statueis4intal. If it wasbuilt 12 ft
with ascdeof 1in: 3ft then how tal isthe
real statue?

179) If a6 ft tall baby giraffe castsa 9 ft long 8 ft
shadow then how tall is atelephone booth
that casts a 12 ft shadow?

181) A 4fttall car standing next to a statue cast8 ft
a2 ft shadow. If the statueis 16 ft tall then
how long is its shadow?

183) A modd igloois5inwide. If it was builltO ft
with ascaleof 1in: 2 ft then how wideis
the real igloo?

185) A modd houseis2 cmtall. If it was built2 m
with ascale of 1 cm: 6 m then how tal is
the real house?

187) A car that is 6 ft tall casts a shadow that is 38 ft
ft long. Find the height of an adult giraffe
that casts a9 ft shadow.

189) A 8ft tall baby giraffe standing next to a4 ft
bird bath casts a 20 ft shadow. If the bird
bath casts a shadow that is 10 ft long then
how tall isit?

191) A model motorcycle hasascaleof 1in: 5ftl0 ft 192)

If the model motorcycleis 2 inlong then
how long is the real motorcycle?

193) A particular satelliteis 15 mwide. A mod& cm
of it was built withascaleof 1cm: 3 m.
How wide is the model ?

164) A 16 ft tal adult giraffe standing nexttoa 1 ft
globe casts a 8 ft shadow. If the globeis 2 ft
tall then how long isits shadow?

166) A 9 ft tall adult elephant standing next to al ft
bird bath casts a 3 ft shadow. If the bird
bath is 3 ft tall then how long is its shadow?
168) A model rocket hasascaleof 1cm:5m. If3cm
the real rocket is 15 m tall then how tall is
the model rocket?

170) A moddl car hasascaeof 1in: 3ft. If th&2 ft
model car is 4 in long then how long isthe
real car?

172) A petrified stump that is6 ft tall castsa 20 ft
shadow that is 12 ft long. Find the length of
the shadow that a 10 ft adult elephant casts.

174) If a6 fttall ladder casts a 10 ft long shadow ft
then how tall isaglobe that castsa5 ft
shadow?

176) A moddl car hasascaeof 1in: 3ft. If th&8 ft
model car is 6 in long then how long isthe
real car?

178) A model power plantis2 cmtall. If it wasl8 m
built with ascale of 1 cm : 9 m then how tall
isthereal power plant?

180) A 9ft tall tent standing next to a baby 4 ft
giraffe casts a 6 ft shadow. If the baby
giraffeis 6 ft tall then how longisits
shadow?

182) If a6 fttall ladder casts a 12 ft long shadow8 ft
then how tall is a petrified stump that casts a
16 ft shadow?

184) A model rocketis4 cmtall. If it wasbuilt2 m
with ascaleof 1 cm: 3 mthen how tal is
thereal rocket?

186) A modd giraffehasascaleof 1in:2ft. Bin
thereal giraffeis 10 ft tall then how tal is
the model giraffe?

188) A cardboard box that is8fttall castsa  4ft
shadow that is 16 ft long. Find the height of
apetrified stump that casts a 8 ft shadow.

A 16 ft tall ladder standing next to abird 4 ft
bath casts a 4 ft shadow. If the bird bath

casts a shadow that is 1 ft long then how tall
isit?

A 6 ft tall woman standing next to a baby 3 ft
elephant casts a 20 ft shadow. If the baby
elephant casts a shadow that is 10 ft long

then how tall isit?

A model igloo hasascaleof 1in: 4ft. If 3in
thereal igloois 12 ft wide then how wideis
the model igloo?

190)

194)
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195) A 8ft tall telephone booth standing next to &ft
woman casts a 4 ft shadow. If the woman
casts a shadow that is 3 ft long then how tall
isshe?

197) If a9 ft tall telephone booth casts a 3 ft long? ft
shadow then how long is the shadow that a 6
ft tall lawn casts?

199) A 10ft tall tent standing next to awomarv ft
casts a 14 ft shadow. If thewoman is5 ft
tall then how long is her shadow?

201) A model car hasascaleof 1in: 2 ft. If thé4 ft
model car is7 in long then how long is the
real car?

203) A model satelliteis 7 cm wide. If it wad4 m
built with ascale of 1 cm : 2 m then how
wideisthereal satellite?

205) A 6fttall car standing nexttoababy 10 ft
elephant casts a 15 ft shadow. If the baby
elephant is 4 ft tall then how long isits
shadow?

207) If a4 fttall car castsal ft long shadow thef ft
how long is the shadow that a 8 ft tall
petrified stump casts?

209) Find the distance between Unionand 110 km
Clayton if they are 10 cm apart on amap
withascaeof 1 cm: 11 km.

211) Find the distance between Johnstown and 7 in
Brisbane on amap with ascaleof 1in: 8 mi
if they are actually 56 mi apart.

213) A model satellite hasascaleof 1 cm: 5m2cm
If the real satelliteis 10 m wide then how
wide isthe model satellite?

215) A model househasascaleof 1in: 3yd. Ifin
the rea houseis 12 yd wide then how wide
isthe model house?

217) A tent that is6 ft tall casts a shadow that is 8 ft
ft long. Find the height of ababy giraffe
that casts a 12 ft shadow.

219) A lawn thatis2 fttall castsa  6ft
shadow that is 1 ft long. Find the height of a
woman that casts a 3 ft shadow.

221) Madison and Milton are 180 mi from each 9 in
other. How far apart would the cities be on
amap that hasascaleof 1in: 20 mi?

223) A particular trainis 15 ft tall. A model of i% in
was built with ascaleof 1in: 3 ft. How tall
isthe model?

225) A moddl trainis5intall. If it was built wiZh ft
ascaeof 1in: 4 ft then how tal isthe rea
tran?

196) If a8 fttall telephone booth casts a 3 ft lon6 ft
shadow then how tall is an adult giraffe that
casts a 6 ft shadow?

198) If a8 fttall telephone booth castsa 12 ft 15 ft
long shadow then how long is the shadow
that a 10 ft tall adult elephant casts?

200) A lawn thatis3fttall castsa  6ft
shadow that is 8 ft long. Find the height of a
man that casts a 16 ft shadow.

202) A model igloo hasascaleof 1in: 2ft. If 7in
therea igloo is 14 ft wide then how wide is
the model igloo?

204) A particular building is 15 ft tall. A modglin
of it wasbuilt withascaleof 1in: 3 ft.

How tall isthe model?

206) Anadult giraffethat is15fttall castsa  3ft
shadow that is5 ft long. Find the height of a
globe that casts a1 ft shadow.

208) Find the distance between Union and Mount in
Pleasant on amap with ascaleof 1in: 12
mi if they are actually 84 mi apart.

210) A map hasascaeof 1 cm: 9km. If
Midway and Santa Cruz are 45 km apart
then they are how far apart on the map?

212) A model igloo hasascaleof 1in: 3ft. 1f18ft
the model igloo is 6 in wide then how wide
isthereal igloo?

214) A model houseis 6 cm wide. If it was built2 m
with ascale of 1 cm: 2 m then how wideis
the real house?

216) A statuethat is 18 ft tall casts a shadow thaf! ft
iIs9 ft long. Find the height of atent that
casts a 2 ft shadow.

218) A telephone booth that is 8 ft tall castsa 10 ft
shadow that is4 ft long. Find the height of
an adult elephant that casts a5 ft shadow.

220) A map hasascaleof 1Lin:4mi. If Miltofin
and Victoria are 24 mi apart then they are
how far apart on the map?

222) Clayton and Y orkshire are 2 cm apart on a38 km
map that hasascale of 1 cm: 19 km. How
far apart are thered cities?

224) A model giraffeis2intall. If it was built 16 ft
with ascale of 1in: 8 ft then how tall isthe
real giraffe?

226) A model house hasascaleof 1cm: 2 m. IflOm
the model house is 5 cm tall then how tall is
the real house?

5cm

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-7-



227) A 15ft tall ladder standing next to a 6 ft
telephone booth casts a 10 ft shadow. If the
telephone booth is 9 ft tall then how long is
its shadow?

229) A 6 ft tall man standing next to an aduki ft
giraffe casts a 3 ft shadow. If the adult
giraffeis 16 ft tall then how long isits
shadow?

231) Find the distance between Smithville anfi2 mi
Rockvilleif they are 4 in apart on amap
withascaleof 1in: 13 mi.

233) Find the distance between San Joseand 9cm
Midway on amap with ascaleof 1 cm: 10
km if they are actually 90 km apart.

235) A model treehasascaeof 1cm: 4 m. Ifl6 m

the model treeis4 cm tall then how tall is

thereal tree?

A 16 ft tall adult giraffe standing next to ad ft

adult elephant casts a 8 ft shadow. If the

adult elephant casts a shadow that is5 ft

long then how tall isit?

A 14 ft tall adult giraffe standing next to & ft

man casts a 7 ft shadow. If themanis6 ft

tall then how long is his shadow?

Find the distance between Madison and 40 km

Rivertown if they are 5 cm apart on amap

with ascale of 1 cm: 8 km.

237)

239)

241)

243) A map hasascaleof 1in:5mi. If Fairview2in
and Oak Grove are 10 mi apart then they are

how far apart on the map?

245) A model giraffehasascaeof 1in: 4ft. Bin
therea giraffeis 12 ft tall then how tall is
the model giraffe?

247) A model submarineis4 cm long. If it wa&0 m
built with ascale of 1 cm : 5 m then how
long isthe real submarine?

249) A 9 ft tall telephone booth standing next to a ft
baby giraffe casts a 3 ft shadow. If the baby
giraffeis6 ft tall then how longisits
shadow?

251) Marion and Franklin are 68 km from each 4 cm
other. How far apart would the cities be on
amap that hasascaleof 1 cm: 17 km?

253) Franklin and Madison are 9 in apart on a
map that hasascaleof 1in: 14 mi. How far
apart are the real cities?

255) A particular giraffeis 12 ft tall. A model dfin
it was built with ascaleof 1in: 3ft. How
tall isthe model?

228) A baby giraffethat is 6 ft tall casts a shadow ft
that is 15 ft long. Find the height of an adult
elephant that casts a 20 ft shadow.

230) Find the distance between Georgetown andLO in
Smithville on amap with ascaleof 1in: 15
mi if they are actually 150 mi apart.

232) Find the distance between Johnstown and’2 km
Riversideif they are 6 cm apart on amap
withascaleof 1 cm: 12 km.

234) A model power plant hasascaleof 1cm: 22 cm
m. If thereal power plant is 14 m tall then
how tall isthe model power plant?

236) A model power plant hasascaeof 1 cm: & cm
m. If thereal power plant is 15 m tall then
how tall isthe model power plant?

238) A 6 ft tall woman standing next to a globe ft
casts a9 ft shadow. If the globeis 2 ft tall
then how long is its shadow?

240) A 3ft tal bird bath standing next to a statuéb ft

casts a 2 ft shadow. If the statue castsa

shadow that is 10 ft long then how tall isit?

A map hasascaeof 1cm: 6 km. If 48 km

Fairview and Mount Pleasant are 8 cm apart

on the map then how far apart are the real

cities?

A map hasascaeof 1.cm: 3km. If 15km

Rockville and Greenwood are 5 cm apart on

the map then how far apart are the real

cities?

A particular giraffeis 16 ft tall. A model @fin

it was built withascaleof 1in: 2 ft. How

tall isthe model?

248) If a18 ft tall statue casts a9 ft long shadowt ft
then how long is the shadow that a 8 ft tall
cardboard box casts?

250) San Jose and Brisbane are 40 km from each4 cm
other. How far apart would the cities be on
amap that hasascaleof 1 cm : 10 km?

242)

244)

246)

252) Marion and Salem are 6 cm apart on a map96 km
that hasascaleof 1 cm: 16 km. How far
apart are the real cities?

126 r2b4) A particular car is18 ft long. A model of & in

was built with ascaleof 1in: 6 ft. How
long is the model ?

256) A model car hasascaleof 1in: 3ft. If tha2 ft
model car is 4 inlong then how long isthe
real car?
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257) A model caris4inlong. If it was built witPD ft
ascaeof 1in: 5ftthen how longisthered
car?

259) A globethat is 3 ft tall casts a shadow that i3 ft
6 ft long. Find the height of atelephone
booth that casts a 18 ft shadow.

261) Anadult giraffethat is14 fttall castsa 61t
shadow that is 7 ft long. Find the height of a
tree that casts a 3 ft shadow.

263) Find the distance between Y orkshire and0 km
Marion if they are 10 cm apart on amap
with ascale of 1 cm: 9 km.

265) Find the distance between Salem and Miltord in
onamapwithascaeof 1in: 6 miif they
are actually 42 mi apart.

267) A model train hasascaleof 1in: 10 ft. 120 ft
the model trainis 2 in tall then how tall is
thered train?

269) A statuethat is 15 ft tall casts a shadow thal ft
is3ftlong. Find the length of the shadow
that a5 ft bird bath casts.

271) If a6 fttall petrified stump castsa 3 ft long 4 ft
shadow then how tall isabird bath that casts
a2 ft shadow?

273) Amap hasascaleof 1in: 20 mi. If 6in
Franklin and Kumba are 120 mi apart then
they are how far apart on the map?

258) A statuethat is 14 ft tall casts a shadow thaP ft
is7 ft long. Find the length of the shadow
that a 4 ft baby elephant casts.

260) A 4fttal petrified stump standing next to &8 ft
baby giraffe casts a5 ft shadow. If the baby
giraffe casts a shadow that is 10 ft long then
how tal isit?

262) Find the distance between Y orkshireand 80 mi
Union if they are 8 in apart on amap with a
scaleof 1in: 10 mi.

264) Find the distance between Santa Cruz and} cm
Victoriaon amap withascaleof 1cm: 7
km if they are actually 28 km apart.

266) A model igloo hasascaeof 1in: 2ft. 1f10ft
the model igloo is 5 in wide then how wide
isthereal igloo?

268) A model giraffehasascaleof 1in: 3ft. [8ft
the model giraffeis 6 in tall then how tall is
therea giraffe?

270) If al10ft tall tent casts a5 ft long shadow! ft
then how tall isacar that castsa 2 ft
shadow?

272) A maphasascaeof 1in: 3 mi. If Frankli@ mi
and San Jose are 3 in apart on the map then
how far apart are thereal cities?

274) A map hasascaleof 1cm: 18 km. If 9cm
Rivertown and Sun Valley are 162 km apart
then they are how far apart on the map?

275) A map hasascaeof 1in: 16 mi. If Kumbd8 mi276) A model car hasascaeof 1in: 2ft. If th& in

and Rockville are 3 in apart on the map then
how far apart are the rea cities?

277) A model car hasascaleof 1in: 2ft. If thé4 ft
model car is 7 in long then how long isthe
real car?

279) A mode trainis3intall. If it was built widtt
ascaeof 1in: 3ftthen how tal istherea
tran?

281) A bird bath that is 4 ft tall casts a shadows3 ft
that is9 ft long. Find the height of atent
that casts a 18 ft shadow.

Santa Cruz and Clinton are 112 km from 8 cm
each other. How far apart would the cities

be on amap that hasascaleof 1 cm: 14

km?

283)

285)
amap that hasascaeof 1in: 11 mi. How
far apart are thered cities?

287) A particular car is18 ft long. A model of @ in
was built with ascaleof 1in: 3 ft. How

long is the model?

Greenwood and Rivertown are 4 in apart ond4 mi286)

real car is 14 ft long then how long isthe
model car?

278) A model statueis2intal. If it wasbuilt 12 ft
with ascaeof 1in: 6 ft then how tal isthe
real statue?

280) A telephone booth that is9ft tall castsa 3 ft
shadow that is 3 ft long. Find the height of a
cardboard box that castsa 1 ft shadow.

282) If al15ft tall statue casts a9 ft long shadov ft
then how long is the shadow that a 5 ft tall
baby elephant casts?

284)
amap that hasascaleof 1 cm: 13 km. How
far apart are thereal cities?

Riverside and Mount Pleasant are 63 km 7 cm
from each other. How far apart would the
cities be on amap that hasascaleof 1 cm :
9km?

A particular houseis 12 mwide. A modell cm
of it was built withascaeof 1 cm: 3 m.

How wide is the model ?

288)

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-0-

Santa Cruz and Smithville are 2 cm apart on26 km



289) A 15ft tall statue standing next toawoman ft  290) A man that is6 ft tall casts a shadow that islO ft

castsa 12 ft shadow. If thewomanis5 ft 4 ft long. Find the length of the shadow that
tall then how long is her shadow? a 15 ft adult giraffe casts.
291) A globethat is 2 ft tall casts ashadow that i$ ft 292) A 4 ft tall bird bath standing next to a statués ft
1 ftlong. Find the height of abird bath that casts a 2 ft shadow. If the statue castsa
casts a 2 ft shadow. shadow that is 8 ft long then how tall isit?
293) Find the distance between Rivertown and 36 kn294) Find the distance between Kumba and 8in
Abbots Riseif they are 6 cm apart on amap Georgetown on amap with ascaleof 1in: 4
with ascaleof 1 cm: 6 km. mi if they are actually 32 mi apart.
295) Find the distance between Unionand Oak2in  296) A model houseis2 cm wide. If it wasbuilt2 m
Grove on amap with ascale of 1in: 20 mi with ascale of 1 cm : 6 m then how wideis
if they are actually 40 mi apart. the real house?
297) Anadult giraffethat is18fttall castsa 8ft  298) A 15 ft tall adult giraffe standing next to &® ft
shadow that is 9 ft long. Find the length of adult elephant casts a 18 ft shadow. If the
the shadow that a 16 ft tree casts. adult elephant is 10 ft tall then how longis
its shadow?
299) If a6 ft tall woman casts a4 ft long shadov® ft  300) A map hasascaleof 1in:16mi. If  2in
then how tall is atelephone booth that casts Greenwood and Midway are 32 mi apart
a6 ft shadow? then they are how far apart on the map?

Solve tasks by rounding answer to the nearest tenth:
301) A model statueis2inwide. If it wasbuiliO ft  302) A particular igloo is 9.9 ft wide. A model & in

with ascaleof 1in: 5 ft then how wideis it was built with ascaleof 1in: 3.3 ft. How
the rea statue? wide isthe model ?

303) A model planeis7intal. If itwasbuilt 14ft 304) A model igloohasascaleof 1in: 1.8ft. 110.8 ft
with ascaeof 1in: 2 ft then how tall isthe the model igloo is 6 in wide then how wide
real plane? isthereal igloo?

305) A model planehasascaleof 1in: 10ft. [POft 306) A model trainhasascaeof 1in: 2 ft. If th&2 ft
the model planeis2intall then how tal is model trainis6intall then how tall isthe
the rea plane? real train?

307) A model househasascaleof 1in:5ft. 1P0ft 308) A model igloo hasascaleof 1in: 2ft. If 5in
the model houseis4 intall then how tal is thereal igloois 10 ft wide then how wideis
the real house? the model igloo?

309) A model rocket hasascaleof 1 cm: 2.8 m.19.6 1810) A model caris7inlong. If it was built witt8.3 ft
If the model rocket is 7 cm tall then how tall ascaleof 1in: 1.9 ft then how long isthe
isthereal rocket? real car?

311) A particular houseis 12.2 mwide. A model cm 312) A mode trainhasascaleof 1in: 3.4 ft. 117 ft
of it was built with ascaleof 1 cm: 6.1 m. the model trainis5 in tall then how tall is
How wide is the model ? thereal train?

313) A model househasascaleof 1in: 3.3ft. 119.8814) A particular giraffeis11fttall. A model o in
the model houseis 6 in wide then how wide it was built with ascaleof 1in: 5.5 ft. How
isthereal house? tall isthe model ?

315) A model power plant hasascaleof 1 cm:3cm 316) A model igloo hasascaleof 1in: 3.3 ft. 19.9ft
3.4 m. If thereal power plant is 10.2 m tall the model igloo is 3 in wide then how wide
then how tall isthe model power plant? isthereal igloo?

317) A model trainhasascaleof 1in: 2.8 ft. 114 ft 318) A model satelliteis5inwide. If it was buil© ft
the model trainis5in tall then how tall is with ascaleof 1in: 2 ft then how wideis
thereal train? the real satellite?

319) A model satellitehasascaleof 1cm: 3ml1l8 m 320) A model treehasascaeof 1cm:3.9m. 165 cm
If the model satelliteis 6 cm wide then how thereal treeis 19.5 mtall then how tall is
wideisthereal satellite? the model tree?
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321) A model rocket hasascaleof 1cm: 4.1 m.3cm 322) A model car hasascaleof 1in: 5ft. If th@in

If thereal rocket is 12.3 m tall then how tall
is the model rocket?

323) A model satellitehasascaleof 1in:2.2ft6in
If the real satelliteis 13.2 ft wide then how
wide isthe moded satellite?

325) A particular giraffeis 14 fttall. A model obin
it was built withascaleof 1in: 2.8 ft. How
tall isthe model?

real car is 10 ft long then how long isthe
model car?

324) A particular car is16.8 ft long. A model of6 in
it was built with ascaleof 1in: 2.8 ft. How
long is the model ?

326) A model car hasascaleof 1in: 9.5ft. If 2in
thereal car is 19 ft long then how long isthe
model car?

327) A model rocket hasascaleof 1in: 4.5ft. 118 ft 328) A model statue hasascaleof 1in: 2.5ft. Ifin

the model rocket is4 intall then how tal is
the real rocket?

329) A model igloo hasascaeof 1in: 1.8ft. 16 in
the real igloo is 10.8 ft wide then how wide
isthe model igloo?

thereal statueis 10 ft wide then how wideis
the model statue?

330) A model igloois5inwide. If it wasbuilt 11 ft
with ascaleof 1in: 2.2 ft then how wideis
thereal igloo?

331) A model caris4inlong. If it wasbuilt witth.2 {t332) A model plane hasascaleof 1 cm: 2.8 m.4 cm

ascaeof 1in: 3.8 ft then how longisthe
rea car?

333) A mode giraffeis9intall. If it was built 18 ft
with ascaleof 1in: 2 ft then how tall isthe
real giraffe?

If thereal planeis 11.2 m long then how
long is the model plane?

334) A model caris8inlong. If it wasbuilt wittt.8 ft
ascaeof 1in: 2.1 ft then how longisthe
real car?

335) A model caris9inlong. If it wasbuilt wift9.8 ft336) A model house hasascaleof 1cm: 2.9 m.14.5m

ascaeof 1in: 2.2 ft then how longisthe
real car?

If the model houseis’5 cm wide then how
wideistherea house?

337) A model satellite hasascaleof 1 cm: 6.5 L3 m338) A particular car is18.4 ft long. A model of8 in

If the model satelliteis 2 cm wide then how
wideisthered satellite?

339) A model power plant hasascaleof 1 cm: 18.5
3.7 m. If the model power plantis5 cm tall
then how tall isthe real power plant?

341) A model igloo hasascaleof 1in: 3ft. If 4in
thereal igloo is 12 ft wide then how wide is
the model igloo?

343) A model car hasascaleof 1in: 6.7 ft. 1f3in
thereal car is 20.1 ft long then how long is
the model car?

345) A model househasascaleof 1in: 3.3ft. I6in
the rea houseis 19.8 ft tall then how tall is
the model house?

347) A particular statueis 18.2 ft tall. A model in
of it was built with ascaleof 1in: 2.6 ft.
How tall isthe model?

349) A model trainhasascaleof 1in: 4ft. If thein
real trainis 12 ft tall then how tal isthe
modd train?

351) A model trainhasascaleof 1in:2.2ft. 1®in
thereal trainis 19.8 ft tall then how tall is
the model train?

it was built with ascaleof 1in: 2.3 ft. How
long is the model ?

n840) A model igloois2inwide. If it wasbuilt 13 ft
with ascaleof 1in: 6.5 ft then how wideis
thereal igloo?

342) A model giraffehasascaleof 1in: 2.8ft4in
If thereal giraffeis 11.2 ft tall then how tall
isthe moddl giraffe?

344) A model plane hasascaleof 1cm: 2.1 m.7 cm
If thereal planeis 14.7 m tall then how tall
isthe model plane?

346) A model trainhasascaleof 1in: 4.5ft. ifin
thereal trainis 18 ft tall then how tall isthe
model train?

348) A model househasascaleof 1cm: 2.1 m.8 cm
If the rea houseis 16.8 m wide then how
wide isthe model house?

350) A particular trainis16.8 fttall. A model of7 in
it was built with ascaleof 1in: 2.4 ft. How
tall isthe model ?

352) A particular igloois 15 ft wide. A model of in
it was built with ascaleof 1in: 7.5ft. How
wide isthe model ?

353) A model house hasascaleof 1 cm: 2.3 m.11.5n854) A model giraffeis2intall. If it was built 18 ft

If the model houseis5 cm tall then how tall
isthe real house?

with ascaleof 1in: 9 ft then how tal isthe
real giraffe?

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-11-



355) A model house hasascaleof 1in: 3.6 ft. 118 ft 356) A model motorcycle hasascaleof 1in: 2.30 ft

the model house is 5 in wide then how wide ft. If the model motorcycleis4 inlong then
isthereal house? how long is the real motorcycle?

357) A model igloohasascaleof 1in: 3ft. If 5in  358) A model house hasascaleof 1cm: 6.9 m.13.8 m
thered igloo is 15 ft wide then how wideis If the model houseis 2 cm tall then how tall
the model igloo? isthe real house?

359) A particular rocket is11.1fttall. A modeBin  360) A model house hasascaleof 1 cm: 5.3 m.2cm
of it was built with ascaleof 1in: 3.7 ft. If the real house is 10.6 m tall then how tall
How tall isthe model? Isthe model house?

361) A model giraffehasascaleof 1in:2.1ft7in  362) A model power plant hasascaleof 1cm: 18.9m
If thereal giraffeis 14.7 ft tall then how tall 2.1 m. If the model power plant is9 cm tall
isthe model giraffe? then how tall isthe real power plant?

363) A model treehasascaeof 1in:24ft. Ibin  364) A model car hasascaeof 1in: 8ft. If tha6 ft
thered treeis 12 ft tall then how tal isthe model car is 2 inlong then how long isthe
model tree? real car?

365) A model statueis9intall. If itwasbuiltl7.1ft 366) A model giraffehasascaleof 1in: 2.8 ft11.2 ft
withascaleof 1in: 1.9 ft then how tall is If the model giraffeis4 in tall then how tall
therea statue? istheredl giraffe?

367) A model giraffeis4intall. If itwasbuilt16ft 368) A model treehasascaleof 1cm: 2.4 m. 16 cm
with ascaleof 1in: 4 ft then how tall isthe thereadl treeis 14.4 mtall then how tall is
real giraffe? the model tree?

369) A model caris2inlong. If it wasbuilt with4 ft 370) A model car hasascaleof 1in: 1.9ft. If 10in
ascaeof 1in: 7 ft then how longisthered thereal car is 19 ft long then how long is the
car? model car?

371) A model power plant hasascaleof 1 cm: 212 m 372) A model igloois6 inwide. If it wasbuilt 15 ft
m. If the model power plant is6 cm tall with ascaleof 1in: 2.5 ft then how wideis
then how tall isthe real power plant? thereal igloo?

373) A model satellitehasascaleof 1in: 6.2ydin 374) A particular houseis 14.6 mwide. A model cm
If the real satelliteis 18.6 yd wide then how of it was built withascaeof 1cm: 7.3 m.
wideisthe model satellite? How wide is the model ?

375) A particular caris17.1ftlong. A model of3in 376) A model house hasascaeof 1cm: 2.2 m.8cm
it was built with ascaleof 1in: 5.7 ft. How If the real houseis 17.6 m wide then how
long is the model? wide is the model house?

377) A particular statueis 12 fttall. A model dfin  378) A model satellite hasascaleof 1in: 2.6 ft13 ft
it was built with ascaleof 1in: 6 ft. How If the model satelliteis 5 in wide then how
tall isthe model? wideistherea satellite?

379) A model houseis3 cmwide. If it wasbuiltl.1 m380) A model houseis3 cmtall. If it wasbuilt10.5m
with ascale of 1 cm : 3.7 m then how wide with ascale of 1 cm : 3.5 m then how tall is
isthereal house? the real house?

381) A model satellitehasascaleof 1in: 2.2 ydl3.2y882) A model trainis6intall. If it was built with.2 ft
If the model satelliteis 6 in wide then how ascaeof 1in: 2.7 ft then how tal isthe
wideisthereal satellite? real train?

383) A particular trainis18fttall. A model of i9in 384) A particular planeis14.4 mtall. A model of cm
was built with ascaleof 1in: 2 ft. How tall it was built with ascaleof 1cm: 3.6 m.
isthe model? How tall isthe model?

385) A model satellite hasascaleof 1 cm: 9.5 nml9 m386) A model statueis4 intal. If it wasbuiltl3.2 ft
If the model satelliteis 2 cm wide then how with ascaleof 1in: 3.3 ft then how tall is
wideisthereal satellite? therea statue?

387) A model satellite hasascaleof 1 cm: 2.1 ml2.6 1888) A model car hasascaleof 1in: 2.7 ft. 1f18.9 ft
If the model satelliteis 6 cm wide then how the model car is 7 in long then how long is
wideisthereal satellite? therea car?
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389) A model igloois2inwide. If itwasbuilt 11 ft 390) A particular caris13.3 ft long. A model of7 in

with ascaleof 1in: 5.5 ft then how wideis it was built withascaleof 1in: 1.9 ft. How
the real igloo? long is the model ?

391) A model car hasascaleof 1in: 4ft. If thé2ft 392) A model trainis7intall. If it was built wiih.1 ft
model car is 3 inlong then how long isthe ascaleof 1in: 2.3 ft then how tall isthe
real car? real train?

393) A model trainis2intall. If it wasbuilt with ft 394) A model car hasascaleof 1in: 2.3ft. If7in
ascaeof 1in: 7.5ft then how tal isthe thereal car is 16.1 ft long then how long is
rea train? the model car?

395) A model houseis5cmtall. If it wasbuilt12.5 m396) A model giraffehasascaleof 1in: 8.5 ft17 ft
with ascaleof 1 cm: 2.5 m then how tall is If the model giraffeis 2 in tal then how tall
the real house? istheredl giraffe?

397) A model trainhasascaleof 1in: 6ft. If thein 398) A model satellite hasascaleof 1in: 4.2 ydl6.8 yd
red trainis 18 ft tall then how tall isthe If the model satelliteis 4 in wide then how
model train? wideisthered satellite?

399) A particular igloois 14 ft wide. A model oftin  400) A model giraffeis6intall. If it wasbuilt 18 ft
it was built with ascaleof 1in: 3.5ft. How with ascale of 1in: 3 ft then how tall isthe
wide is the model? real giraffe?

401) If a2.9ft tal bird bath castsa 11.6 ft longl15.2 ft 402) A particular trainis 15 ft tall. A model of i8in
shadow then how long is the shadow that a was built with ascaleof 1in: 5ft. How tall
3.8 ft tall cardboard box casts? IS the model?

403) A model houseis3 cmwide. If it wasbuiltl.1 m404) A model house hasascaleof 1in: 8ft. If 16 ft
with ascale of 1 cm : 3.7 m then how wide the model houseis 2 in wide then how wide
istherea house? isthe real house?

405) A model trainhasascaleof 1in: 2ft. If thein 406) A model trainhasascaleof 1in:3.6ft. I5in
red trainis 14 ft tall then how tall isthe thereal trainis 18 ft tall then how tall isthe
model train? model train?

407) A car that is 7.3 ft tall casts ashadow that i8.2 ft 408) A 8.4 ft tall adult elephant standing next to2v.8 ft
43.8 ft long. Find the height of a baby man casts a 48.7 ft shadow. If themanis
elephant that casts a 19.2 ft shadow. 4.8 ft tall then how long is his shadow?

409) A globethat is2.8 ft tall casts ashadow thaPl ft 410) A 8.9 ft tall tree standing next to an adult 10.6 ft
is9.8 ft long. Find the length of the shadow elephant casts a 35.6 ft shadow. If the adult
that a 6 ft woman casts. elephant casts a shadow that is 42.4 ft long

then how tall isit?
411) A cardboard box that is6.9 ft tall castsa 6.5ft 412) A model car hasascaleof 1in: 2.8 ft. If4in

shadow that is 9 ft long. Find the length of thereal car is11.2 ft long then how long is
the shadow that a 5 ft car casts. the model car?

413) A 7.2 ft tall telephone booth standing next t85.5 f414) A model rocket hasascaleof 1in: 3ft. Ifi2 ft
ababy giraffe casts a 21.6 ft shadow. If the the model rocket is4 intall then how tal is
baby giraffeis 8.5 ft tall then how longisits the real rocket?
shadow?

415) A model statue hasascaleof 1in: 2.5ft. 110t 416) A particular car is18ftlong. A model of &2 in
the model statueis4 intall then how tal is was built with ascaleof 1in: 9 ft. How
the real statue? long is the model?

417) A model planehasascaleof 1in: 2ft. If 8in 418) A particular motorcycleis9.9ftlong. A3in
therea planeis 16 ft tall then how tall isthe model of it was built withascaleof 1in:
model plane? 3.3 ft. How long isthe model?

419) If a7.5ft tal petrified stump castsa37.5 45 ft  420) If a3.2 ft tall baby elephant casts a 4.8 ft25.5 ft
long shadow then how long is the shadow long shadow then how long is the shadow
that a9 ft tall tent casts? that a 17 ft tall adult giraffe casts?
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421) A 14 ft tall adult giraffe standing next to an10.2 f422) If a5.5 ft tall man casts a19.3 ft long 13.3ft

adult elephant casts a 58.8 ft shadow. If the
adult elephant casts a shadow that is 42.8 ft
long then how tall isit?

423) A lawn

acar that casts a 16.5 ft shadow.

shadow then how long is the shadow that a
3.8 ft tall bird bath casts?

thatis6fttall castsa 4.7 ft 424) A particular car is20 ft long. A model of i@ in
shadow that is 21 ft long. Find the height of

was built withascaleof 1in: 10 ft. How
long is the model ?

425) A model rocket hasascaleof 1 cm: 1.9 m.7 cm 426) A model igloois5inwide. If it was built 13 ft

If the real rocket is 13.3 m tall then how tall
is the model rocket?

427) A particular car is 13 ft long. A model of & in

was built withascaleof 1in: 2.6 ft. How
long is the model ?

429) A car that is 4.7 ft tall casts ashadow that i§ ft

9.9 ft long. Find the height of a cardboard
box that casts a 16.8 ft shadow.

431) A manthat is 6.8 ft tall casts a shadow thaBl.7 ft 432)

is35.4 ft long. Find the length of the
shadow that a 6.1 ft woman casts.

433) A 7.6 ft tall petrified stump standing next to05.9 434)

a cardboard box casts a 19 ft shadow. If the
cardboard box casts a shadow that is 14.8 ft
long then how tall isit?

with ascaeof 1in: 2.6 ft then how wideis
thereal igloo?

428) A particular motorcycleis 10 ft long. A4 in

mode! of it was built with ascaleof 1in:
2.5ft. How long isthe model?

A 6.5fttal lawn standing next tdl8.2 ft
ababy giraffe casts a 22.8 ft shadow. If the

baby giraffeis 5.2 ft tall then how longisits
shadow?

If a11.3 ft tall adult elephant casts a 61 f80.8 ft
long shadow then how long is the shadow

that a 5.7 ft tall woman casts?

A 8.4 ft tall baby giraffe standing next to a20.6 ft
ladder casts a 14.3 ft shadow. If the ladder
is12.1 ft tall then how long is its shadow?

435) A particular satelliteis 20 ft wide. A modélO in 436) A model rocket hasascaleof 1.cm: 2.7 m.6 cm

of it was built with ascaleof 1in: 2 ft.
How wide is the model ?

If therea rocket is 16.2 m tall then how tall
is the moddl rocket?

437) A model satelliteis2 inwide. If it wasbuilb ft 438) A particular rocket is11.1 fttall. A modeBin

withascadeof 1in: 7.5 ft then how wideis
theredl satdllite?

of it was built with ascaleof 1in: 3.7 ft.
How tall isthe model ?

439) A model house hasascaleof 1 cm: 2.2 m. 5cm440) A cardboard box that is2 ft tall castsa 4.7 ft

If the real houseis 11 m wide then how wide

isthe modeal house?

441) A 17.4ft tall statue standing next to aman.8 ft

casts a48.7 ft shadow. If the man castsa
shadow that is 13.4 ft long then how tall is
he?

443) If a 1.6 ft tall globe casts a 8.8 ft long

ft tall man casts?

shadow that is 10.4 ft long. Find the height
of awoman that casts a 24.4 ft shadow.

442) A telephone booth that is 6.9 ft tall castsa 3.1 ft

shadow that is 38 ft long. Find the height of
aglobethat castsa17.1 ft shadow.

27.5%444) If a4.3ft tall baby elephant castsa 6.5 0.9 ft
shadow then how long is the shadow that a5

long shadow then how tall is an adult
elephant that casts a 14.9 ft shadow?

445) If a4.7 ft tall car castsa 10.3 ft long shadowi 3.3 446) A particular trainis 20 ft tall. A model of i in

then how tall is a statue that casts a29.3 ft
shadow?

447) A model igloo hasascaleof 1in: 5ft. If10ft

the model igloo is 2 in wide then how wide
isthereal igloo?

was built withascaleof 1in: 5ft. How tal
is the modd ?

448) A particular caris19.2 ft long. A model of4 in

it was built with ascaleof 1in: 4.8 ft. How
long is the model ?

449) A model igloois4inwide. If it wasbuilt 13.2 ft450) A model giraffe hasascaeof 1in: 2.4 ft16.8 ft

withascdeof 1in: 3.3 ft then how wideis
the real igloo?

If the model giraffeis 7 in tal then how tall
isthered giraffe?

451) A globethat is 3.5 ft tall casts a shadow thaB2.3 f452) A ladder that is 12.5 ft tall casts a shadow45.9 ft

is15.1 ftlong. Find the length of the
shadow that a 7.5 ft man casts.

that is 70 ft long. Find the length of the
shadow that a 8.2 ft adult elephant casts.
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453) A 15.5ft tall flagpole standing nextto an 39.6 fd454) A petrified ssump that is7.5ft tall castsa 6.5ft

adult elephant casts a 66.6 ft shadow. If the shadow that is 42 ft long. Find the height of
adult elephant is 9.2 ft tall then how longis a cardboard box that casts a 36.4 ft shadow.
its shadow?

455) A model house hasascaleof 1 cm: 8.2 m.2cm 456) A particular houseis 10 m wide. A modeb cm
If the real house is 16.4 m wide then how of it was built with ascaleof 1 cm: 2 m.
wide isthe model house? How wide is the model ?

457) A particular houseis 11.4 mwide. A modeb cm 458) A particular igloois 13.2 ft wide. A model in
of it was built withascaleof 1cm: 1.9 m. of it was built with ascaleof 1in: 3.3 ft.

How wide is the model ? How wide is the model ?

459) A particular satelliteis17.1 ft wide. A 3in 460) A particular rocket is 11 ft tall. A model of2 in
model of it was built with ascaleof 1in: it was built with ascaleof 1in: 5.5 ft. How
5.7 ft. How wide isthe model? tall isthe model?

461) A model car hasascaleof 1in: 6ft. If thé2 ft 462) An adult elephant that is 10.8 ft tall casts a4 ft
model car is 2 in long then how long isthe shadow that is 21.6 ft long. Find the height
real car? of alawn that casts a 8 ft shadow.

463) If a11.3 ft tall adult elephant castsa56.5 7.7 ft 464) A 14.6 ft tall ladder standing next to an aduf.2 ft
long shadow then how tall is ababy giraffe elephant casts a49.6 ft shadow. If the adult
that casts a 38.5 ft shadow? elephant casts a shadow that is 31.3 ft long

then how tall isit?

465) If a7.1fttal man castsal7 ft long shadov®.1 ft 466) A 17 ft tall adult giraffe standing nexttoa 5.1 ft
then how tall isatent that casts a21.8 ft baby elephant casts a 79.9 ft shadow. If the
shadow? baby elephant casts a shadow that is 24 ft

long then how tall isit?

467) A model caris4inlong. If it wasbuilt witlb.2 {t468) A particular statueis 12 ft tall. A model @ in

ascaeof 1in: 3.8 ft then how longisthe it was built with ascaleof 1in: 2 ft. How
real car? tall is the model ?

469) A model planeis5cmtal. If it wasbuilt 18 m 470) A model satellite hasascaleof 1 cm: 1.9 n6 cm
with ascale of 1 cm: 3.6 m then how tall is If the real satelliteis 11.4 m wide then how
the rea plane? wide isthe model satellite?

471) A 6.9 fttall car standing next to aman casts6 ft  472) A 5.4 ft tall baby elephant standing next tal4.9 ft
a28.3 ft shadow. If the man casts a shadow an adult giraffe casts a 12.4 ft shadow. If
that is 24.6 ft long then how tal is he? the adult giraffe casts a shadow that is 34.3

ft long then how tall isit?
473) If al6.5fttall ladder castsa21.5ftlong 4.3ft 474) If a3.3 ft tal cardboard box castsa 7.3 ft9.5 ft

shadow then how long is the shadow that a long shadow then how long is the shadow
3.3 ft tal bird bath casts? that a4.3 ft tall bird bath casts?

475) A model igloo hasascaleof 1in: 3.5ft. If4ft 476) If a6.1fttal car castsa 15.9 ft long shadowb.5 ft
the model igloo is 4 in wide then how wide then how long is the shadow that a 2.5 ft tall
isthereal igloo? bird bath casts?

477) A model planehasascaleof 1cm: 4.4 m.4dcm 478) A model househasascaeof 1cm: 6.1 m.12.2m
If thereal planeis 17.6 m tall then how tall If the model house is 2 cm wide then how
isthe model plane? wideisthe rea house?

479) A model car hasascaleof 1in:3.8ft. If 5in 480) A mode planeis4intall. If itwasbuilt 16 ft
thereal car is 19 ft long then how long is the with ascale of 1in: 4 ft then how tall isthe
model car? real plane?

481) A model satellite hasascaleof 1 cm: 2.3 m/ cm 482) A ladder that is 9.2 ft tall casts a shadow thaf .5 ft

If the real satelliteis 16.1 m wide then how is14.7 ft long. Find the height of a
wide isthe model satellite? telephone booth that casts a 12 ft shadow.
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483) A telephone booth that is9.1 ft tall castsal8.6 ft 484) A 3.5 ft tall cardboard box standing next t036.7 ft

shadow that is 24.6 ft long. Find the length
of the shadow that a 6.9 ft petrified stump
casts.

an adult giraffe castsa 7.7 ft shadow. If the
adult giraffeis 16.7 ft tall then how long is
its shadow?

485) If a6.5 ft tall telephone booth castsa 7.8 ft 7.9 ft 486) A particular houseis 17 mtal. A model db cm

long shadow then how tall is atree that casts

a 9.5 ft shadow?

it was built with ascaleof 1cm: 3.4 m.
How tall isthe moddl ?

487) If a6.3 ft tall tent casts a 8.8 ft long shadowt.5 ft 488) A model houseis 3 cmwide. If it wasbuilt2.6 m

then how long is the shadow that a 3.2 ft tall
car casts?

with ascaleof 1 cm : 4.2 m then how wide
is the real house?

489) A model planeis2 cmtall. If it wasbuilt 11.2 m490) A model house hasascaeof 1 cm: 2.5 m.5 cm

with ascaeof 1 cm : 5.6 m then how tall is
the rea plane?

491) A model rocket hasascaleof 1in: 3ft. 1bin

thereal rocket is 15 ft tall then how tall is
the model rocket?

493) If a16.6 ft tall statue casts a68.1 ft long6.5 ft

shadow then how tall is acar that casts a
26.7 ft shadow?

495) A manthat is 6.6 ft tall casts a shadow thaP3 ft

iIs25.7 ft long. Find the length of the
shadow that a5.9 ft woman casts.

497) If al15fttall flagpole casts a88.5 ft long4.8 ft

shadow then how tall is aman that casts a
28.3 ft shadow?

If the real houseis 12.5 m wide then how
wideis the model house?

492) If a4.4 fttall petrified stump casts a 15 ft18.4 ft

long shadow then how long is the shadow
that a 5.4 ft tall woman casts?

494) If a9.1 ft tall adult elephant casts a43.7 f64.8 ft

long shadow then how long is the shadow
that a13.5 ft tall statue casts?

496) A ladder that is 13.2 ft tall casts a shadowb.6 ft

that is 15.8 ft long. Find the height of a
statue that casts a 11.5 ft shadow.

498) A model car hasascaeof 1in: 4.3ft. If4in

thereal car is17.2 ft long then how long is
the model car?

499) A model planehasascaleof 1cm:3m. 115 m 500) A model igloo hasascaleof 1in: 2.8 ft. 14 ft

the model planeis5 cmtall then how tall is
the rea plane?

501) A particular submarineis15.5mlong. AScm  502)

model of it was built with ascaleof 1 cm:
3.1 m. How long isthe model?

503) A baby elephant that is2.9fttall castsa 6.1 ft504)

shadow that is 6.4 ft long. Find the height
of ababy giraffe that casts a 13.4 ft shadow.

505) A 18.1ft tall adult giraffe standing next to a5 ft  506)

tent casts a 105 ft shadow. If thetent castsa
shadow that is 29 ft long then how tall isit?

507) Find the distance between Abbots Rise and3.5 cnb08)

Oak Groveon amap withascaeof 1 cm :
11.6 km if they are actually 40.6 km apart.

the model igloo is 5 in wide then how wide
isthereal igloo?

A 5.3 ft tall man standing next to ababy 21.9 ft
giraffe casts a 15.9 ft shadow. If the baby
giraffeis 7.3 ft tall then how long isits

shadow?

A 8.1 ft tall tent standing next to aman cast§.5 ft
a41.3 ft shadow. If the man casts a shadow

that is 33.2 ft long then how tall is he?

Centerville and Georgetown are 48.7mi 2.81in
from each other. How far apart would the
citiesbe on amap that hasascaleof 1in:

17.4 mi?

Find the distance between Abbots Rise and 3.4 mi
Greenwood if they are 0.6 in apart on amap
withascdeof 1in: 5.7 mi.

509) Find the distance between Miltonand  1.3in 510) A model igloois3inwide. If it wasbuilt5 ft

Madison on amap with ascaleof 1in: 15
mi if they are actually 19.5 mi apart.

with ascaeof 1in: 5 ft then how wideis
thereal igloo?

511) A model plane hasascaleof 1 cm: 5.6 m.16.8 n512) A particular houseis 12.6 mwide. A mode? cm

If the model planeis 3 cm tall then how tall
isthereal plane?

of it was built with ascaleof 1cm: 6.3 m.
How wide is the model ?

513) A 4.7 ft tal bird bath standing next to abab$0.2 $14) If a5.1 ft tall woman castsa 13.3 ft long 24.4 ft

giraffe casts a27.7 ft shadow. If the baby
giraffeis 8.5 ft tall then how long isits
shadow?

shadow then how long is the shadow that a
9.4 ft tall telephone booth casts?
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515) A 5.3fttal car standing nexttoababy  4.5ft516) A 8.3 fttall petrified stump standing next to7.2 ft

elephant casts a 14.3 ft shadow. If the baby
elephant casts a shadow that is 12.2 ft long
then how tall isit?

517) A map hasascaleof 1 cm: 13.3km. If 31.9 km518)

Victoriaand Franklin are 2.4 cm apart on
the map then how far apart are the real
cities?

519) A maphasascaleof 1cm: 16.7km. If 3cm 520)

Salem and Clayton are 50.1 km apart then
they are how far apart on the map?

521) A modedl igloois4inwide. If itwasbuilt 14 ft 522)

with ascdeof 1in: 3.5 ft then how wideis
the real igloo?

acardboard box casts a 10 ft shadow. If the
cardboard box casts a shadow that is 8.6 ft
long then how tall isit?

Find the distance between Salem and Uniorl7.3 mi
if they are 2.3 in apart on amap with ascae
of 1in: 7.5 mi.

A map hasascaleof 1cm: 109 km. If 3.6 cm
Georgetown and Santa Cruz are 39.2 km

apart then they are how far apart on the

map?

A model statue hasascaleof 1in: 2 ft. 112 ft
the model statue is 6 in tall then how tal is
therea statue?

523) A model houseis7 cmtall. If it wasbuilt16.8 m524) A model statue hasascaleof 1in: 6 ft. 18 ft

with ascaeof 1 cm: 2.4 m then how tall is
the real house?

the modd statueis 3 in tall then how tall is
therea statue?

525) A baby elephant that is5.4 fttall castsa 2.7 ft 526) If a10.5 ft tall statue castsa18.9 ft long 8.5 ft

shadow that is 17.3 ft long. Find the height
of abird bath that casts a 8.6 ft shadow.

shadow then how tall is atelephone booth
that casts a 15.3 ft shadow?

527) A 2.2 fttal cardboard box standing next to45.8 ft528) A map hasascaleof 1cm:9.2km. If 11 km

an adult giraffe castsa 5.5 ft shadow. If the
adult giraffeis 18.3 ft tall then how long is
its shadow?

Abbots Rise and Midway are 1.2 cm apart
on the map then how far apart are the real
cities?

529) Brisbane and Marion are 35.2 mi from eachi.9in530) A map hasascaleof 1in: 12.6 mi. If 26in

other. How far apart would the cities be on
amap that hasascaleof 1in: 18.5mi?

Brisbane and Victoria are 32.8 mi apart then
they are how far apart on the map?

531) Clinton and Sun Valley are 3.2 cm apart or21.8 ki532) A model giraffeis4intall. If it wasbuilt 12 ft

amap that hasascale of 1 cm: 6.8 km.
How far apart are the redl cities?

with ascaeof 1in: 3 ft then how tal isthe
real giraffe?

533) A model igloo hasascaleof 1in: 2.6ft. 113t 534) A model planeis4intall. If it wasbuilt 16 ft

the model igloo is 5 in wide then how wide
isthereal igloo?

535) A model giraffehasascaleof 1in:5ft. Hin

therea giraffeis 10 ft tall then how tall is
the model giraffe?

537) A 4.4fttall tent standing next to ababy.2 ft
giraffe casts a 7 ft shadow. If the baby
giraffeis 4.5 ft tall then how long isits
shadow?

539) If a4.6 ft tall car castsa 7.4 ft long shadow2.7 ft 540)

then how long is the shadow that a 1.7 ft tall
globe casts?

541) Find the distance between Mount Pleasanfl8.7 mi542)

and Smithvilleif they are 2.2 in apart on a
map with ascaleof 1in: 8.5 mi.

543) Find the distance between Sun Valley and3.5 cm 544)

Riverside on amap with ascaleof 1 cm:
11.8 kmif they are actualy 41.3 km apart.

with ascaleof 1in: 4 ft then how tall isthe
real plane?

536) If a4.8 ft tall baby elephant castsa23.5ft 7.1 ft

long shadow then how tall is atent that casts
a34.8 ft shadow?

A telephone booth that is 7.9 ft tall casts a37.7 ft
shadow that is 40.3 ft long. Find the length
of the shadow that a 7.4 ft man casts.

Mount Pleasant and Kumba are 21.6 km 1.5cm
from each other. How far apart would the

cities be on amap that hasascaeof 1 cm :

14.4 km?

Find the distance between Sun Valley andl9.8 mi
Rockvilleif they are 2.8 in apart on amap
withascaleof 1in: 17.8 mi.

A mode train hasascaleof 1in: 4.5ft. 118 ft
the model trainis4 in tall then how tall is
therea train?
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545) A model giraffehasascaleof 1in: 3.3ft3in  546) A particular rocket is 16 ft tall. A model of5 in

If thereal giraffeis 9.9 ft tall then how tall it was built withascaleof 1in: 3.2 ft. How
isthe model giraffe? tall isthe model ?

547) A 7.7 ft tall ladder standing next to acar 7 ft 548) A 3.3ft tall baby elephant standing next to 2.5 ft
casts a 21.6 ft shadow. If the car castsa tent casts a 18.2 ft shadow. If thetentis4.1
shadow that is 19.6 ft long then how tall is ft tall then how long isits shadow?
it?

549) A 2.3ft tal globe standing next to a 45.1 ft 550) A cardboard box that is3.2 ft tall castsa  19.2 ft
telephone booth casts a 12.2 ft shadow. If shadow that is 9.6 ft long. Find the length
the telephone booth is 8.5 ft tall then how of the shadow that a 6.4 ft baby giraffe casts.

long isits shadow?
551) A maphasascaeof 1in:10.3mi. If 11.3mi552) Clinton and Rivertown are 1.5 cm apart on 7.5 km

Clinton and Johnstown are 1.1 in apart on map that hasascale of 1 cm: 18.3 km.
the map then how far apart are the real How far apart are therea cities?
cities?

553) A map hasascaeof 1in: 13.6 mi. If 1.6in 554) Midway and Oak Grove are 2.3 in apart on al7.7 mi
Midway and Georgetown are 21.8 mi apart map that hasascaleof 1in: 7.7 mi. How
then they are how far apart on the map? far apart are therea cities?

555) A particular trainis 12 fttall. A model of 5tin  556) A particular igloois 10 ft wide. A model di in
was built with ascaleof 1in: 2.4 ft. How it was built with ascaleof 1in: 2 ft. How
tall isthe model? wideis the model?

557) A model house hasascaleof 1 cm: 6.1 m.2cm 558) A model train hasascaleof 1in: 1.9ft. 1T in
If the real houseis 12.2 m wide then how thered trainis 13.3 ft tall then how tall is
wide is the model house? the model train?

559) A 4.6 ft tall baby elephant standing next to &.1 ft560) A petrified stump that is5.8 ft tall castsa 7.8 ft
car castsa 15.2 ft shadow. If the car castsa shadow that is 11 ft long. Find the length of
shadow that is 20.1 ft long then how tall is the shadow that a 4.1 ft baby elephant casts.
it?

561) If a5.5ft tall tent castsa 18.2 ft long 48.5 ft 562) Sun Valley and Brisbane are 21.1 mi from 3.4in
shadow then how long is the shadow that a each other. How far apart would the cities
14.7 ft tall adult giraffe casts? be on amap that hasascaleof 1in: 6.2 mi?

563) Sun Valley and Midway are 9.2 mi from 0.6in 564) Find the distance between Claytonand 11.4 km
each other. How far apart would the cities Franklinif they are 1.2 cm apart on amap
be on amap that hasascaleof 1in: 15.4 with ascaleof 1 cm: 9.5 km.

mi?

565) Clayton and Salem are 1.9 in apart on ama5.5 B66) A particular trainis 17 ft tall. A model of &tin
that hasascaleof 1in: 18.7 mi. How far was built with ascaleof 1in: 3.4 ft. How
apart arethered cities? tall isthe model ?

567) A particular statueis11.2fttall. A modelin  568) A model satellitehasascaleof 1in: 4.3ydl7.2 yd
of it was built with ascaleof 1in: 2.8 ft. If the model satelliteis 4 in wide then how
How tall isthe model? wideisthered satellite?

569) A model rocket hasascaleof 1in: 2.4ft. If7in 570) If a3.4fttal globe castsa19 ft long 44.2 ft
the real rocket is 16.8 ft tall then how tall is shadow then how long is the shadow that a
the model rocket? 7.9 ft tall adult elephant casts?

571) If a4.3fttall bird bath castsa7.3ftlong 9.5t 572) A lawn that is 3.6 ft tall castsa8.3 ft
shadow then how long is the shadow that a shadow that is 9.7 ft long. Find the height
5.6 ft tall woman casts? of aladder that casts a 22.4 ft shadow.

573) A baby giraffethatis6.5fttall castsa 5.6 ft 574) Find the distance between Midway and  41.4 mi
shadow that is 14.3 ft long. Find the height Centervilleif they are 3.7 in apart on amap
of aman that casts a 12.3 ft shadow. with ascaleof 1in: 11.2 mi.
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575) Find the distance between Johnstown and 4.3 ki576) A map hasascaeof 1 cm: 14.6 km. If 1.5cm

Union if they are 0.8 cm apart on amap with

ascaeof 1 cm: 5.4 km.

Johnstown and Marion are 21.9 km apart
then they are how far apart on the map?

577) A model house hasascaleof 1cm: 9m. Ii8 m 578) A model car hasascaleof 1in: 2.8ft. If 5in

the model houseis 2 cm wide then how
wideisthe real house?

579) A model trainhasascaleof 1in: 2.3 ft. ITin

theredl trainis 16.1 ft tall then how tall is
the model train?

thereal car is 14 ft long then how long is the
model car?

580) A particular power plantis12.4 mtall. A4 cm

modd of it was built with ascale of 1 cm:
3.1 m. How tal isthe modd?

581) A 4.9fttal petrified stump standing next t8.2 ft 582) If a4.7 ft tall car casts a 18.3 ft long shadow?2.7 ft

aglobe casts a 10.3 ft shadow. If the globe

then how tall is a globe that casts a 10.5 ft

is 1.5 ft tall then how long isits shadow? shadow?

583) A tent that is5.5 ft tall casts a shadow that i$4.6 f584) If a5.8 ft tall man castsa 11.6 ft long 29.4 ft
31.9ftlong. Find the height of an adult shadow then how long is the shadow that a
giraffe that casts a84.7 ft shadow. 14.7 ft tall tree casts?

585) A map hasascaleof 1cm: 7.1km. If 17.8 knb86) Oak Grove and San Jose are 50.8 mi from3.1in
Clayton and Madison are 2.5 cm apart on each other. How far apart would the cities
the map then how far apart are the real be on amap that hasascaleof 1in: 16.4
cities? mi?

587) A map hasascaleof 1in: 10.5 mi. If Oak39.9 mb88) Rockville and Sun Valley are 15.8 km fror3.1 cm
Grove and Kumba are 3.8 in apart on the each other. How far apart would the cities
map then how far apart are the real cities? be on amap that hasascaleof 1cm: 5.1

km?

589) A particular trainis16.8 fttall. A model oBin 590) A particular statueis 14 ft tall. A model of in
it was built withascaleof 1in: 2.1 ft. How it was built with ascaleof 1in: 2 ft. How
tall isthe model? tall is the model ?

591) A model satellitehasascaleof 1cm:2ml8 m 592) A particular car is15 ft long. A model of @ in
If the model satelliteis 9 cm wide then how was built withascaleof 1in: 5ft. How
wideisthereal satellite? long is the model?

593) A 7.5ft tal man standing next to an adulit3.2 ft  594) A 4.3 ft tall bird bath standingnexttoa 16.6 ft
elephant casts a 9 ft shadow. If the adult statue casts a 24.5 ft shadow. If the statue
elephant is 11 ft tall then how long isits casts a shadow that is 94.6 ft long then how
shadow? tal isit?

595) A 2.8 ft tall baby elephant standing next to &.3 ft 596) Johnstown and Greenwood are 38 mi fron2.1in
baby giraffe casts a12.9 ft shadow. If the each other. How far apart would the cities
baby giraffe casts a shadow that is 29 ft long be on amap that hasascaleof 1in: 18.1
then how tall isit? mi?

597) San Jose and Brisbane are 2.7 cm apart on a32.9 598) Find the distance between San Joseand 21.8 mi
map that hasascale of 1 cm: 12.2 km. Johnstown if they are 3.4 in apart on amap
How far apart are the redl cities? withascaleof 1in: 6.4 mi.

599) Centerville and Rivertown are 9.4 mi fron®.6 in 600) A model motorcycleis4inlong. If it wekO ft
each other. How far apart would the cities built with ascale of 1in: 2.5 ft then how
be on amap that hasascaeof 1in: 15.6 long is the real motorcycle?
mi?
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